B Kawasaki

Powering your potential

—fix EE =t FH
P¥FIVIWERAMNIE—Y
AXxial Piston Motors

for General Industrial Machine




CORNEDIERA. TEAIC

HhIc>T

ON APPLICATION / USAGE
OF THE PRODUCTS

LHORBEF, THBHAHERFORRICEIVTHS
SNERUVLVREEEDOTCERELTOLERIT A THRAV
RELIEHEDTIRIRDRICTEBLEEVETITLOBELL
ELET,

COHIOT(IBHEHINTV SRR, FRINDEE
2RI, BRBDY AT ANDOBESEDRTE(F. B
FEY AT LDRETEFCFAFERET DAN . HE(T

1 RO THOITP T ANET RO THSHIBTLTLIEE W, F
fe. BICRIDAY OT PER CHERZERRET U, 8D
HEDTEEEIC DOV TDIRREZRBU TV AT L&
BUTLIEE L,

HEODHEAICH O TCIF TE LDERSEIRZEST
DL IEVWERTTHETHEVLZE L,

)\

DAY OT(CERHES NIHATERIE, HEDRMHE®
4REZSHEA T DKRIECH Y. (REHMETIEHIFE fuo

W

RITRT ROBFEHPRIECOIFERAICHE>TIF. =

FIICHE R CTHERLIZE LY,

OBEEE SN TV AR DREPIRIE,

QETFF. fiZE. ER. BREEDERICEDNDE G,

OAVCHECKEIRBFEN FTERINSHE. £<ICRE
HHOBRINDERICEDNDE G,

AHIOTTBHSINIBRIF. TESBRUICEEIND
5 BENBUET BIFIBRICOVTIF. BHETHREE

Although our products are designed on the basis of our
profound knowledge and long experience, and manufactured
under the strict quality control system, the following must be
taken into consideration in actual use.

The operating conditions of the products shown in this
catalog vary depending upon each application, and
therefore, the decision of the products' suitability to
the system considered must be made by the designer
of the hydraulic system and/or the person in charge of

1 determining the specification after making analysis
and conducting tests, if necessary. The study of the
specification shall be done based on the latest catalog
and technical documents, and the system must be
composed taking into account situations regarding the
possibility of machine failure.

Prior to use of the products, descriptions given in the
SAFETY PRECAUTIONS must be observed for the
proper use.

N

The technical information in this catalog represents
typical characteristics and performance of the
products, and not guaranteed ones.

W

In case the products are used in the following condi-
tions or environments, please consult Kawasaki prior

to the use.
4 ®Unspecified conditions or environments
@Use for atomic power, aviation, medical treatment,
and/or food
®Use likely to affect human beings or assets signifi-
cantly or requiring particular safety

change without notice.

5 The information described in this catalog is subject to
For updated information, please consult us.

(eRQ/srai AN
B _ [GONTENTS e
COHBD TR, ERITIIEDT wereerrreereeennnenennannn. ﬁ_1J ON APPLICATION / USAGE OF THE PRODUCTS «++eereeeeseeeeeses 1
ﬁ@i@/}%ﬁ%lﬁ ...................................................... 2 SAFETY PRECAU'HONS .................................................... 2
IR 7 F ) VERANVE—TD/INIL =T ceeeececececenn 3 WIDE VARIETY OF OUR SWASH-PLATE TYPE AXIAL PISTON MOTORS -+« 3
BESER 7+ rILEAN TS Fixed-Displacement Type Axial Piston Motor
M3XDU_]“ ......................................................... 5 MBX SER|ES ................................................................... 5
AZBERT7FIv/LERNE—S Variable-Displacement Type Axial Piston Motor
MBB\‘JU_j\“ ....................................................... 11 M3B SER|ES ................................................................. 11
THERAS T F I r LN E—S Axial Piston Motor with Reduction Gear
MBX/M3B_RG~‘/U_R“ ......................................... 23 M3X / MBB_RG SER|ES ................................................... 23
FRE 7+ v )LEZNVE—S Swash-Plate Type Axial Piston Motor
KBX:/U_Z“ ......................................................... 25 K3X SERIES #+eeveeeecereesnsaeeruetieunterntitnieeiiieieieiiteieninne, 25
ﬂg@jﬁ}@ ............................................................... 27 OPERA‘”ON PR|NC|PLE .................................................. 27
/\°_4:\/9“7“|J_:‘: ................................................... 27 PARK”\IG BRAKE(Opnon) ................................................ 27
M3BE—TTZETERAE -orocverrrrrrrrnrereiie. 28 DISPLACEMENT CHANGING MECHANISM OF M3B SERIES --++++-+++ 28
EY}EJ:@/I%? .......................................................... 29 CAUT|ON FOR HANDUNG ............................................... 29
@E% .................................................................... 31 P|P|NG ......................................................................... 31
%léﬁ:ﬁ% ............................................................. 33 SPEC|F|CA‘|’|ON STUD|ES ................................................ 34



O] A&%’

@ A&%’

@Aﬁz

@ j\ ¥

@
CAUTION

© A

CAUTION

®
CAUTION

© A

CAUTION

RN

CAUTION

2A

WARNING

FAYOT DREEREICTEAVCEZHIC T
LEEBICUTEERE DR L(CET DEFRAZEM TETD L SEIRLLES 0

HEEMIRSBICIDZETDIEND
NEIDTIRRICHUTREEZER
LTLIEEL,

IR REOEEFRZB(CLOTE. FEk

NRDBZERHIZITBIENHIFT
DTAEEDECTERLTL SV

FE RRICHESD. NV EBELIZD SN

PRI UIRNTLIEE VL MR R TR
BOBRNGEZERITIENBIET,

HEVRICHBUEEIBIE T D (C3E
BoTL TV REEZELEV. T
OTIFHZETBRNDHUET .

QHBOWMIMF RUANLEDOERFIER
B OBUMD RS EE

ERIREDIE
£F. BPMEDD B HDTR>TLE
0

*BPIAIED 5 2 U hEFREE AL 26k
BE. FREIEMHOY—ERAEES
[F1z%,

EERTIROBICIFN T EBOERAY]

DB T VENEIELETEE
BUTLIEE WV FeSHERENDE

ﬁb‘fOJr(ﬁégtEﬁEEub—C<7"*

M Cautions related to operation

Use the safety equipment to avoid the
injury when you operate the product.

Pay enough attention on handling
method to avoid pinching hands or
back problems that may be caused by
heavy weight of the product or
handling posture.

Do not step on the product, hit it, drop
it or give strong outside force to it, as
one of these actions may cause the

failure of work, damage or oil leakage.

Wipe the oil on the product or floor off
completely, as the oil creates slippery
conditions that may result in dropping
the product or injuring.

BWWarnings and Cautions related to
installation and removal of the product

Installation, removal, plumbing, and
wiring must be done by the certified
person.

“CERTIFIED PERSON : a person who has
enough knowledge like a person who is
trained by Kawasaki's hydraulic school.

Make it sure that the power of the
hydraulic power unit is turned off and
that the electric motor or engine has
completely stopped before starting
installation or removal. You must also
check the system pressure has dropped
to zero.

B FDFEEIR

BHEERICOVLTODER

TEIEBERICONTOEE] P SFREOEIRGIAEZ T DICTER

[Z2(CB T 2EhERE] O EEAREHE
@FBLREHEE

@AE%‘\
@&E%

O[S
@FHIRER

BREFRIBLEMTBRET>THOIT
BOTLIEE WV EEBI ZRNDHIET

BT BN B 2B S IR LT
SV RILMDFEHDIFRR, ¥ —)LEIE

[CRURIBCERNGEERIIBND

HIET,

RERERIAHT BEFENTIREDRIL S
ZEEAUREDLI THRDH DIFTLE
SV RESNDOWI I ZET D E(FEIA
RBURBHRNEZIRIIIENHIRT
DTEELTZEW

(3) EEmhDEREIR

B
@\ ¥
O B

@ A&%’

oA

WARNING

© A

CAUTION

® A

CAUTION

BAFTICEMEET DBREDHDFET
DPTIF W ERZ B U= RELUS SHET
[CEALBLTLIZEW

RYFPE—IREDDEHHDRES
N=FHFHFeFFEL FPRER
EDBTAHERLELTIIZE N,

2R (REOWRNBRE) I RELUS
GIRESICEGZEIEL MBRILEZ
FUTLREVRIB ANK D RED
BNHHBIET

O TKEZ BRI 255 (HHEDE.
BRUEHEIELVI & BRURHBERIC
%Ejb‘ﬂb\gt%ﬁ%wbhitﬁﬁﬁbt
[ Q/utay

SAFETY PRECAUTIONS

Beforhe you éJSE the product, you MUST read the operation or operators manual and MUST fully understand how to
use the product.
To use the product safely, you MUST carefully read all Warnings and Cautions in this manual. You MUST also observe
the related regulations and rules regarding safety.

Turn off the power before starting
wiring or other works related to the
electric power, otherwise you may be
stuck by an electric shock.

Clean the threads and mounting surface
completely, otherwise you may
experience damages or oil leakage
caused by insufficient tightening torque
or broken seal.

Use the specified bolts and keep the
specified tightening torque when you
install the product. Usage of
unauthorized bolts, lack of torque or
excess of torque may create problems
such as failure of work, damage and oil
leakage.

EWarnings and Cautions for operation

@
DANGER

AN

WARNING

AN

WARNING

AN

CAUTION

Never use the product not equipped
with anti-explosion protection in the
circumstances of possible explosion or
combustion.

Shield the rotating part such as motor
shaft and pump shaft to avoid injuries
caused by being caught of fingers or
cloths.

Stop the operation immediately if you
find something wrong such as unusual
noise, oil leakage or smoke, and fix it
properly. If you continue operating, you
may encounter damage, fire or injury.

Make it sure that plumbing and wiring
are correct and all the connection is
tightened correctly before you start
operating, especially if it is the first run.

@AE%‘
@AE%‘\

@Aii%‘

@JIS B 8243 ENEEDEIE
®JIS B 8361 JHWEVRT LER

HRFEAICOLTDEE

(M HR@BEMIHSEDEREIR

HREFHYOT WA RERE(CHRH
SRS TERALBLITLZEN
EEP, REdHEPYL /A RDRE
LEFRBRECKVSRICRVEI DT FP
EOENEVKSITERL TS L P
FEDENDHBIFET

PEENHIFBIERYZERERALEREDHE
BECEEL TSV BT R, &8
DERNAGHIET,

A RT-RELDFREIR

0] A&%’
@ AE%

® AE‘%‘

N
CAUTION
N
CAUTION

@A

CAUTION

BERICRKDHBDOULEF. B CLIR
WTLIEEL

HEEH < DB MHBELZLNT
TV EDSNTHREZEFHIBTEY
HWEPEHDOFERICRVET . PO ZES
OB MAHBELZT DHERFFPIHH
DHBHDITFETIEEL

HERZER REIDHEE. AERE.
SRERETRIERFICERL. HE. BhiEE
RoTLEETW

RpZRARERICERT IHGICIF.
V—)VEDRENEE T DB G
EER

Use the product under the specification
mentioned in the catalog, drawings and
specification sheet.

Keep your body off the product during
the operations as it may become hot
and burn your body.

Use the proper hydraulic oil, and
maintain the contamination in the
recommended level, otherwise it may
not work or be damaged.

HCautions related to maintenance

OA
CAUTION

/M

CAUTION

AN

CAUTION

O

CAUTION

Never modify the product without
approval of Kawasaki.

Do not disassemble and assemble
without approval by Kawasaki. It may
cause troubles and failure, or it may not
work as specified. If it is necessary by
all means to disassemble and assemble,
it must be done by an authorized
person.

Keep the product from dust and rust by
paying attention to the surrounding
temperature and humidity when you
transport or store the product.

Replacing the seals may be required if
you use the product after long time
storage.




"‘hiR" E—9(cx T B5H 5B =—XICKawasakiDd

High-Performance Motors You Have Been Waiting for

AT DFER 7 FvILERARN I E—YT
Kawasaki Swash-Plate Type Axial Piston Motors

— R EE SRR R EXEBmA
for General Use for Industrial Vehicles
Dﬁbfégﬁﬁt AR IR SECIAR ETRiE
) General General for Swing for Travel
BEE—% 2ERE—S BEE—% 2EE—Y
Fixed Variable Fixed Variable
P rated=31.4MPa (K3X series) P rated=29 4MPa P rated=20.6MPa (size 22,45)
29.4MPa : ) 29.4MPa (size 63,210) P rated=34.3MPa
20.6MPa_(Reduction gear type) 20.6MPa(Reduction gear type) 32.4MPa (size 130,180)
P max. =24.5MPa (size 22,45)
P max.=34.3MPa P max.=34.3MPa 34.3MPa (size 63,210) P max.=41.2MPa
39.2MPa (size 130,180)
= 50 K3X63
L 80 K3X80 M2X63
K3X90
= 100
K3X112
£\ M5X 130
= 150
M5X 180
- MCB195
200 M3X200 M3B200 M2X 210
= 250
M3X280 M3B280 ’ i
- 500 M3X530 M3B530 MCB530
750 M3X800 M3B800
M3X200-RG0O3S
~1,000 with Reduction Gear
- M2X63-RG06
15 with Reduction Gear
with Reduction Gear with Reduction Gear
M5X130-RG10
with Reduction Gear
T P rated=27.4MPa
I-3,000 M5X180-RG16
with Reduction Gear
P rated=24.0MPa
M3X530-RG10S M3B530-RG10S }
with Reduction Gear with Reduction Gear m%%ﬁ%&%ﬁ% Gear
P rated=29.4MPa
M5X180-RG17C
with Reduction Gear
5,000 P rated=23.0MPa
M3X800-RG16S M3B800-RG16S
with Reduction Gear with Reduction Gear
M5X180-RG23C
with Reduction Gear
P rated=24.5MPa
N N TN N N NN N NSNS NS NS N N N N
20,000 M3X280-RG100C
with Reduction Gear
P rated=27.5MPa

FREONUI—vavm35. [ J0SEERORBICOVTAAYOT TBALTVET,
This catalog introduces motors for general use. (Colored in[___]in the above table.)



FRE—IHRAE T,

f$& FEATURES

1. ERBANUI—Y3Y

OETASEE—IMIXVI—XH4#FE 1082 T149cm?3
~800CM3FX T AR T845cm3~5120CmM3&E T,
B KIXVU—XH4ETINBEF 63~ 111cm3%&hH
IN—

O EBET—IMIBYU—H4#ET195~800Ccm3
FCOREETT1512cm3~5120cm3&E THN—UL AT
BELN\BEDHEGENEE
Fie . SEHEICHS UL F 1L —9 HHfE

2. SUCBIREEN L OERERE (M3X.M3B.K3X)

O IKANILT T U—bERBHENS Y RICK)BIRIMERES
PN LS

3. REBICELFHLSHEE (M3X.M3B)
o RLBTEREELEMX/MBYU— X D&

O EEHMDE LG TEIDRIE

4. FF2arIN—Y (M3X.M3B)
O KBE/S—F T TU—F=NILTHN—ICHE
o E—IHIHMDERE/NNIL T EE—S [CEUTTTAE

5. ZOMDE—Y

O R DIEDE— 9 ICUBIR AR I/ YT ML
FEM2X.M5XYU—X

ORI TADH— Ny I E—IMCBYU—X

CARERBN IS YT IVERN YV E—S

M3B¥U—X
M3B Series

M3XU—X %
M3X Series

1. Wide variety variation

e Fixed Displacement Motors
M3X series consists of 4 models and 10 displace-
ment types ranging from 149cm?3 to 800cm3. M3X
with reduction gear series covers a displacement
range from 845cm3 to 5,120cms3. K3X series is
made up of 4 models with displacement range
from 63cm3to 111cm3.

® \ariable Displacement Motors

M3B series consists of 4 models with displacement
range from 195cm?3 to 800cm? and from 1,512cm?3
to 5,120cm? for those with reduction gears. Sever-
al combinations of large and small displacements
are available along with a wide variation of regu-
lators are also available for various control
options.

2. Excellent self-priming capability
and max. speed (M3X, M3B, K3X)
® A spherical surface type valve plate and full-bal-
ancing mechanism enhance self-priming capability
and max. speed.

3. High reliability based on long experience
(M3X, M3B)
®Building on the knowledge and experiences of
reputed MX/MB series, M3X/M3B series have been
widely used especially as winch motors.

4. Optional parts (M3X, M3B)

e Built-in parking brake is available for M3X/M3B
motors.

e Various control valves are available for M3X/M3B
motors.

5. Other motors

® M2X/M5X series motors are specifically designed
for swing function of construction machinery.

® MCB series plug-in motors are available for travel-
ing construction machinery.

e Low speed, high torgue radial piston motors are
prepared for general industrial use.

M3X/M3B-RGV/U—Z
M3X/M3B-RG Series



BESER7FVvILEAN Y E—Y
Fixed-Displacement Type Axial Piston Motor

M 3X Series

IN—x27TU—=fF fit with parking brake

B 43R FEATURES

1. BN {ERIERE

RUYZBOER. BEROERRE. FUWREHRIMIC LT
EREDIA L, BHSHERENERERRLUE LI,

2. ek

BEIMICE AR SRBOEAICE T BRI ETEEICLEL
fr. BEEEREF. MXYU—2D# 1.5 #EHUEUR,
3.NAMTavb
149cm3~800cm3NEEICARIEI 0B ENE—I =R X
FUlL BEEIEMXYU—RERUICLTVET DT, Bif
AODBE T Ee BREMRCYU—RXEDHEEEICKD
T ESICABEFTHN—C=ET,(23—IBR)

B A2XRR ORDERING CODE

M3X¥U—X
M3X series

H4 X size
200:195cm3 530 :533cm?
280 :280cm? 800 : 800cm?

77> 3 U¥sE0— R optional function code

A 5% standard
B :/N\—FJTL—FE fit with a parking brake

IR shaft code
C JISAVRYUa—RRTSAY R (1B%)
JIS involute spline (external) (standard)
P JISAYRU2I—=FRTSSA (AR)
JIS involute spline (internal)
1 JISRAMU—bF—
JIS straight key

O#AE (AR—SE. #imkURT)

direction of rotation (A port: high press., view from shaft end)

N :GO0%E (&%) clockwise rotation (standard)
M : E[DOlER anti-clockwise rotation

M3XTU—XI&, —MREEER - BRREHATE—ILLTEER
EEEEFZERVCMXYU—XOZEDEIC, VIV IMEE
REL Y DIRZERRLUE U,

The M3X series are newly developed motors for
construction machinery, industrial machinery or
other applications.

The design based on technology and experience of
current MX series is more compact and enables a
speed range.

1. Advanced Low Speed Characteristics

New design which reduces pressure ripple and friction
enabling expanded lower speed limit and smooth start-
ing characteristics.

2. High Speed Operation

New materials enable an increase in the maximum
speed which has 1.5 times of current MX series.

4 models and 10 capacity motors are carried in
149-800 cm?. Installation is the same as current MX
series. Larger capacity is possible with reduction gears
RG series. (Refer to page 23)

530] -[Al[C] [N]-[485] - [001A]-[D3]

JEEM#% ol temp. code

£ =S| oRaE " =
marks | oil temperature range remarks

o o IRTOY—ET vEIL
V2 -20°C = 6 =907C | il seal parts: fluoro-rubber

V1 |-20C =6 <90C | T h0r7 Rk
“iand | -20C = 6 90
D1 |-30C=8=90C
D2 |-45C= 6 =80T

REES
design code

BHREE )
optional capacity
TV 3 VBEDHERTR
showed only optional capacity



B {£#% SPECIFICATIONS

M3X Series

iz X /model M3X200 M3X280 M3X530 M3X800
BULDITERE  displacement vg m? 195 280 533 800
E R ] rated 29.4 (300)
pressure —
MPa(kgf/cm?) = = max. 34.3 (350)
REO#Im®ERE /max.speed nmax. min! 1,900 1,700 1,400 1,200
& K & 2 ./ max. flow L /min 370 480 750 960
E # b~ JU 7/ rated torque N-m 910 1,310 2,500 3,750
T ¥ B 1./ rated power kW 180 230 370 470
o —ZXWME / case volume L 1.0 13 25 3.8
GD2f& ~ moment of inertia N-m2 1.4 3.0 7.3 14
=1 B = = P standard 42 62 90 133
kg IN=F27TU—FFE with parking brake — 80 134 195
OM3XEZESER M3X Optional capacities 0
£ = B 2 capacity (xAZ#E/standard) . PX N =constant
model EE0ERE  max. speed max. pErie,?sure
V8 *195 149 | cms .
ES
M3X200 nmax| 1,900 2,140 |min? rated pfessure
V8 *280 252
M3X280 o 1700 | 1,770
M3X530 V& %533 499 (485) 467
nmax | 1,400 1,400 1,420 1,450 ; 1
V8 | *800 751 (737)| 701 e
M3X800 I max| 1,200 | 1,230 | 1,240 | 1,270 i

permissible pressure, speed related

B S8TEEETEC CALCULATION FORMULA

W2E/HE L/min = VE-n \%: gﬁﬁwljb‘@%é cm3
required input flow - . isplacement
BEERE min! o = Qv-1,000nv togq;%
= n [OImRE min-!
output speed Ve spead
WML N-mkef-m) = Vg-Ap-nhm AD *ﬁ?ﬂ%ﬁ% MPaékf%f/sz)
= 7 erfective pressure ditference
output torque 2.7 v o | ijﬁt -
[ Ez)] H3 kW (PS) 2n-Tn T-n VO \uAme ric ernciency
= nhm  #AshE N
output power 60,000 9,550 mechanical efficiency
. nt 2UME
:M.nt overall efficiency
60
o
B <ti% DIMENSIONS v i
[M3X ¢3¢ ACN] N A/ oM [M3X33%%BPN]
A B A B
) D | p D |
S R e fE e
] ! - ——
yrzsaﬂﬁ . = i
L rf;:\} W C rf Df
S 'l - - ]y—ﬁ: IS 7’4:’ ;7
ﬂ F,j/ F?E} L:-»I
;F | E;}jI ] | Ei H AB
- ; ! » - AR ]
Y1 X /size A B C D E F G H | J K L M N 0 P S
M3X200ACN |107 [263 | 50 |225 | 20 |160 |115 |110 [224 |4-018| 75 |2x4,M12-17.5| 72 22 | 190 9 m=2.5, z=16
M3X200APN | 49 [263 | 35 |225 | 20 |160 |115 |110 |224 |4-018| 75 |2x4, M12-17.5| 72 22 | 190 9 m=25, z=13
M3X280ACN | 98 [290 | 45 |252 | 22 |200 |130 |124 |268 |4-017| 75 |2x4,M12-17.5| 72 25 230 | 11 m=25, z=16
M3X280BPN | 33 [290 | 44 |252 | 22 |200 |130 [124 |268 |4-017| 75 |2x4,M12-175| 72 25 |230 | 11 m=2.5, z=16
M3X530ACN |123 316 | 54 |278.5 24 |250 |165 |154 |335 |4-022| 75 |2x4,M12-17.5| 72 30 (280 | 19 m=2.5, z=20
M3X530BPN | 38 [413 | 55 [278.5 24 |250 |165 [154 |335 [4-022| 75 |2x4,M12-17.5| 72 30 280 | 19 m=2.5, z=20
M3X800ACN |130 350 | 62 |312.5 27 |280 |178 |169 |376 |4-022| 75 |2x4, M12-17.5| 72 28 |310 | 16 m= 3, z=19
M3X800BPN | 45 461 | 62 |325 | 27 |280 |178 |169 [376 [4-$22[102 |2x4, M16-23 92 30 |310 | 16 m= 3, z=19




B 48 PERFORMANCE CURVE ROHE RIE TR TEETT.

The values given in the below figures are mean ones, and not guaranteed ones.

M(ZOO QHEMZNE Mechanical efficiency (%) S TEFER-HEBYU—T Volumetric efficiency
100 i 100 ‘ 5
— p=30MPa = ‘ ==
+ oo | Goskel/cm) 2 oo | |p=tomps D§3OMP‘3 P=20MP3(204igf/cm?)
< — —~——T— 5 (102kef/cm7y (306Kksf/cm?) =
ke I ~— S £y
= e ~m©
5 80 p=20MPa(204kgf/cm?) .9 80 3 _I%
we p=10MPa(102kgf/cm?) Ho 2
< 70 e 70 —2 &g
g5 B2 p=30MPa(306kef/cm?) | .-~ | %5
5 ws -1 =0
#2E 60 R e e
=== _|===="[ p=20MPa(204kgf/cm?)
s e I S ;
50 50 L mmdomm ] o = | p 10M%a(102kgf/cm )
0 400 800 1200 1600 2,000 0 400 800 1200 1600 2,000
O#mRE speed min? EEEE speed mint
@IECEIZNE Starting mechanical efficiency &SV 7 VEELEEHFE Radial load and bearing life
E 1r000 1‘000‘000 IIIIEIIITNGECiTIIiEIoziiiiiiiiiiiiiiiiiiin EEEEE o ©s
o (18000C)] - | symbole| ¥ F
©5 [ | i
=o ~
£2 @0 . &= ) omits |08 N
28 o 1004,/ 22 100,000 | o T 5
2 (60) 35% o | 90 | 7,000
2‘5 400 e 90 |14,000
f:uou (40) jﬁg 10,000 0 |14,000
B[E 200 % W 180 [14.000
g5 20 A #o 3 -—82mm
e o 1,000 Vg - 195 cm?
¢ (5) (10) (15) (20) (25 ) (30) (35) rones
51 (102) (153) (204) (255) (306) (357 ¥ F ol SRORESRENL,
#%[E different pressure Ap MPa(kgf/cm?) 222 [ kA MG fﬁri?'?&"tiewﬁgu?e"fﬁ‘DDB'E?S
SEETHRKE N HET—ANEAMER 1dle & boost-graph QIRFHFM Shaft creep speed
— 2 01 =
T (204 1o 5 . >
=2 k) T3 4
1) Zo o
< 55 E®
< / g2 a3
s =0 md
wa S 2
B Ao o S =
a5 (10.2) = e
HP L%
K5 — X3 0
Bw pid L8 0 5 10 15 20 25
i we (50 (1020 (153) (204  (255)
£ _o1 ME JU—%E pb MPa(kgf/cm?)
0 (—1.0) braking pressure
0 100 200 300 400
e flow L/min
M(ZBO QHEMIZTNE Mechanical efficiency (%) S TEER-HNEBU—T Volumetric efficiency
100 I 100 10
]
— Raceket ) ) !
= gf/cm z 2
z 9 \\ = g 90 |-p=10mPa(102kes/cmi s et | P=30MPa | 8
% \\\ S (306kgf/cm?)
£ g0 p=20MPa(204kgf/cm?) £ 80 c
o 3 6EY
Xg p=10MPa(102kgf/cm?) Mg 3¢
] ’ %
ﬁ 570 g E 70 o, 52
23 @S |p=30MPa(30skef/cm?) -7 2
®E - o5
60 60 Lo-- L. =0
e +— — 2
17" b= ==="" p=20MPa(204kgf/cm?)
50 50 A== ===
o o = p=10MPa(102kgf/cm?2)
0 400 800 1200 1600 2,000 0 200 400 800 1,200 1,600 1,80
O#mRE speed min! EEEE speed mint
QHCEIZNER Starting mechanical efficiency &SV 7 LEELESEF Radial load and bearing life
_ 1600 _
= (150 1000000 =TT
g T~ { symbole
2 51,200 &< i # geg | n
£2 A ©S 100,000 - o
e =0 D 90 0
Z‘g (SBOOC)) 100%'4 85% -2 | @ | 90] 7.000
N = @ | 9014000
NS _ !
%noo 400 // fu%?%o 10,000 S I @ 014,000
[E @0 7 5] === | ® 18014000
(=] 200% #a | | a -755mm
B3 (20) 1,000 ve-2s00m
00 (5) (10)(15)(20)(25)(30)(35) 5 10 40 LLZIO0MM
51) (102) (153) (204) (255) (306) (357 ¥ F als. OROEESHES .
£[F different pressure Ap MPa(kgf/cm?) FE7) pressure p1+p2 MPa(kgf/cm?) RcfgaardmiwﬁF and a, please
= . refer to the figures in page 9.
S EETRRENHR R —ANESEHE Idle & boost-graph Q{REHFE Shaft creep speed
_ 2 0.1 g 5
T (204) 1o § o
2 i) T3 4
® Zw < 3
H / g2 2 3
. ] 25 mt
wna o 2
2o A 00 ap Re
52 (03 1 O RE 1
e pid— wE 0
m 2 | IS
= 8 0 5 10 15 20 25
ke he (51) (1020 (153 (204)  (255)
20 _oq HE JU—=+E pb MPa(kgf/cm?)
0 (—1.0) braking pressure
0 100 200 300 400

AE flow L/min



M3X Series

JHE/0il temperature:50C
taE/0il viscosity:32mmz2/s

m 530 SHEMFNE Mechanical efficiency (%) OBEME-SEBU—7T Volumetric efficiency
100 100 50
Paceretcma)
e ——— gl/cm = 2
> 90 ? 90 |__p=ToMPa(102kef/cm2Lp30Mpa—"—1 p= 20g/IPa(204kgf/cm)
C 2
g p=20MPa(204kgf/cm?) § (306kgf/cm?) < °
£ 80 | T 80 30 %%J
_ XU x
S p=10MPa(102kgf/cm?) 2o N
%5 70 ®E 70 20 B3
RC 2@2 By
Eo we p=30MPa(306kgf/cm?) %3
%E 6 60 N == o
L _ - P=20MPa(204kgf/cm?)
50 = 'pﬁlgMPa(lozkgf/cmz)
0 500 1,000 1,500 0 500 1,000 1,500
BERE speed mint EERE speed mint
@IEEEZNE Starting mechanical efficiency S I7 VB EEEHE Radial Ioad and bearing life
1,000,000
2 3,000 dnell s
“Zm (300) T symbole| ¥ | F
<2 e g |y N
£5 2000 7 o8 100,000 D Zi o
Zg (200) 100%/ JE 90| 9,000
NE=3 / 85% = 90 [18.000
33 € 10000
70 1,000 =, “’EE v 018,000
gE (100) // W | 180 [18.000
=4 ®o : =96
a2 oA 1000 | o~ = \a/gisl%%nén;” !
0 5 10 15 20 25 30 35 5 10 40 Lo
(5) (102 153 (04 (255) (306) (357) E# pressure p1+p2 MPalkgf/cm?) Regaraing o F and. piesse
#Z[E different pressure Ap MPa(kgf/cm?) refer to the figures in page 9
p p gf/
3 t..ﬁﬁ?é?&lfﬁﬁﬁ'?aﬂj—zhEﬁHﬂﬁ Idle & boost-graph QIRFFFM Shaft creep speed
S 0.10 =
% (0. 3 1o E . 5
, =
£ 11 & tg 4
= L~ ] 23 E2
2o 4ol 005 o8 e e
£5 (102 P | 4 |05 S= N v
HE L~ — i RE =)
K5 . — H-= X& 1
£ pid /// | it —
ﬁg pbs_—1 1 18 ©
&3 000 R2 0 5 10 15 20 25
0 200 400 600 800 1000120014001600 £ (5D (102 (53 (204) (255
& flow L/min JU—*FE pb MPalkgf/cm?)
braking pressure
MIX 800 ezt Mechanical efficiency (%) O BTEZE-51EU—T Volumetric efficiency
100 100 50
p=30MPa
(306kgf/cm?) - OMPa
= —_— 2 90 |p=1 2 D=
g 90 - g2 90 [-p=1 WMPa(102 gf/cmLzmkgf/(m,>p 20ups ) 40
) \\\ E E%
% 80 p=20MPa(204kgf/cm>2) é}g 80 30 —'¥
B p=10MPa[(102kgf/cm?) &#% E;
#& 70 2E 70 20 &5
Be 82 %3
g e p=30MPa (306kef/cm?)
#E ¢ 60 D=20MP3(204kgf/cm?) R
- . === . MPa(102kgf/cm?)
0 500 1,000 1,500 0 500 1,000 1,500
O#E®RE speed min! O#nEE speed min?
@IEENZNE Starting mechanical efficiency OS> Y7 EELEZ S Radial load and bearing life
4500 1,000,000 e — —
‘;m (450) &~ L H syrun:o\e v F
<2 e B
ve( 50) N g units e8| N
£82500 100% / %% 100,000 l: %] o
5 (250) o | @ | 0] 9,000
=3 85% = | y
S S felaee
L W.C v A
EED / gg | ® [180]18,000
= 2 a IS SN S S > : . ~99
@g (5[8 Z 1,000' Ve =800mcrrnn{ )
s 10 15 20 25 30 35 5 10 40 Lo -1000min.
(51 (102) (153) (204) (255) (306) (357) ¥ Falg, SRORESR S,
[E41 pressure pl+p2 MPa(kgf/cm?)
[T different pressure Ap MPa(kgf/cm?) pressure pire o ?iri?'?o‘”lie“ﬁéu?e”f.ié’ai?;
T O%Eﬁ}ﬁ%r RtR RIS T —ANE tﬂf»’i Idle & boost-graph Q{REHFIE Shaft creep speed
S @od &5 € 5
X P kel
= o0 Ty 4
o / o £a
= &3 1554
g | 01 no maw§ ’
a? (10.2) 18 S 2
23 (10 ap Re
we 7 &5 RE —
S pid1 / e G _—
e pbs s 0
&= o 0 n=2 0 5 10 15 20 25
= O 200 400 600 800 1000 HE (5) (1020  (153) (204)  (255)
JiE flow L/min JU—+FE pb MPa(kgf/cm?

braking pressure



B #5255 BEARING LIFE

BAXEOEEEN0=1,000mintOEEDEt&EF G (B1o M The calculated life (Bwo life) shown in the graph is for

24 7)) &ERLET, speed No=1,000min
FEOEEEEN COSEESE TRICTRO TS0, Calculation of life for a random speed N is as follows.

No Lo:NoTOst&ES
L <L (calculated life for No

OM3IX 7OV NS Front bearing life OM3XUVENZFHES Rear bearing life
1,000,000 .
N\ 1,000,000
_ ANS 200 _ \ 280
BE \\/ BE 200
3 A\ T
= 5307 N\ =
{g @po 800 {5 0
#2= 10,000 \\ #= 10000 800
s N\ s 10
o A\ o
N\
1,000 1,000
1 10 100 1 10 100
(10.2) (102) (1,020) (10.2) (102) (1,020)
£ P1+P2 MPa (kgf/cm?) £ P1+P2 MPa (kgf/cm?)
pressure pressure

(CF) p1:AOEA p2:HOEH
(Note) :inlet pressure :outlet pressure

B S5Y7)LEE RADIAL LOAD

W& CSI 7 IVFENMER T 2EEE. FTRICR I ABICIER B In case that radial load is applied, you are requested

FTRLSICHMUMIT TRV COREAB TOHFRSY to install the motor so as to place the radial load
LS. B DEE ISR T, toward the arrow direction shown in below. Please
refer to the relevant list of each motor for allowable
[M3X200] radial load.
[M3X5301] [IM3X280]
[M3X8001] = tEsE SR —2
1BER S EfE R~ —7 tilting direction mark

tilting direction mark

N

=

uE

pjusye
-
{Hy PP

-----

[
-
o
;e

T
A« AI__II__Il 506 6y Iy i



M3X Series
B /N—%+>22'b—=% PARKING BRAKE

i X /model M3B200 M3X280/M3B280 M3X530/M3B530 M3X800/M3B800
TU—F8LT /brake torque N'm| 1,400| 1,050| 530 | 1,750 1,320| 660 | 3,770 | 2,820 | 1,410 | 5,010| 3,770 | 1,880
;;;;Tffg’aﬁi EES cracking | 1.8(18) 1.4(14)| 0.7(7) | 2.3(23)/1.8(18)| 0.9(9) |2.4(25)|1.8(18)| 0.8(8) [2.4(25)|1.8(18)| 0.8(8)
MPaliat/cmp) | ANO—2TR stroke end | 2.3(23)| 1.8(18)] 0.9(9) [3.0(31)|2.3(23)[1.2(12)[3.1(32)2.3(23)[1.2(12)|3.1(32)| 2.3(23)[1.2(12)
& F | L16G L16-G L16-G L16-G
0 low press. | (F€) | L12-G| L6-G | ¢me) [L12-G| L6-G | () |L12-G | L6-G | (=) | L12-G| L6-G
. &\_LDBMZ% " |(standard (standard) (standard) (standard)
TU—HEEI1 | pilot release 5 T
brake order code hié? press.| — — — — — |H16-G |H12-G | L6-G |H16-G|H12-G| H6-C
TU—F5MER 5 E
valve release |high press.| — - - | | — |HeB| — — | HeB

GE1) M3IXIVU—ZXADXAZHIL T U—FF. IS—F T HRERTT, (Note1) The mechanical brakes of M3X/M3B series shall be used for parking only
E—IEEPICIEBIT B RVKIICLTIEE W, so please make sure not to apply the brakes when motors are driving.

= PRATI < . . (Note2) In case of low pressure release type, brake release shall be conducted by
S . _ 2 b
(E2) (RERRPIS, AND—T T2 REALLE7 8MPa(80ksf/cm?)LL providing hydraulic oil pressured more than stroke end pressure and less

T@Eﬁ%fﬁﬁ‘/ﬁ\bt7“|/_:Fﬁgﬁﬁﬁ?fd\~?t<7iéb\o Hﬁ\j‘l/_:‘: than 7.8MPa(80kgf/cm2)
FRRRENFRL Y ENEDZEENENEACBIEITDTITERL Please note that effective pressure is the differential pressure between
EEW. brake release and drain.

GE3) I —R[H6-BlIZETRAYYI—N\SVANILTHSERRE (Note3) In case of motors with H6-B as brake model code, release pressure is

EEHETNT. BEIC T U — R LET provided from traveling counterbalance valve, and the brake is automati-
N - - ° cally released.

@OE8E Hydraulic symbols & JL—FE9E] Outline view of brake port

TU—FHHO—RLxox—G ‘
brake order code

)¢

Pr

#

TU—FEFI—RH*%%x—C
brake order code

PRT = =

E== i

T b :

I. @5 _g) 3
5 DR [

|.: "(DRz‘/_I &

|I 1 J;.lf—;}
I

TU—FHEI—RH6—B
brake order code

1

2T PN

(DR2

!




11

O ZEBS=ER7FvIVEAN I E—Y
Variable-Displacement Type Axial Piston Motor

M3B Series
>

| S

i
71:‘},

IN—*27TU—=fF fit with parking brake

B 45K FEATURES

RLVZE DI BBEDIERRE . #T UV TR > T
ERFDILAE TFDONTFEEN R ERELF U,

2. BE(LDRIR

BEECENCEROTRAETRTEHHDILKICK ST
BEIEZAgEELX Uic. K/NBEDBELZIBEDM
BYATD2AENSIBEEARLE LTz,

3. HENEEHEGEICHG
A 2RGJIEF
B:¥—4oVAF
C:Bh—TEdlER + EERES 26 EH
4. ERIC LS S=HIEH'OIHE
NEBIEREZBHYIRFH D WVIF BRI AIREF THIE
5L TERICKSBERHDTBETT,

B #2x(%T ORDERING CODE

GFEAIERR—2)

M3BYU—XlF. O—9ULEMIXTVU—-XEELT D
EICKH>TENERMEEE - SR{EZTREIC UIE2REIE—
ICT, EBTEREBEIREOHDIMBE—IDEIMZD &
[C. 2EDBELZIBETILAL. 3FEED 2EHEICHZ.
EXKAEBTEEICLTVETD,

The M3B Series are variable displacement type
motors with the same rotary components of M3X
Series which enable the advanced low speed char-
acteristic and high speed operation.

The design of various displacement control is based
on current MB Series. The range of displacement is
100%-33% with 3 types of various displacement
control regulators. Electric displacement control is
also possible.

1. Advanced Low-Speed Characteristics

New design which reduces pressure ripple and friction
enabling expanded lower speed limit and smooth start-
ing characteristics.

2. High-Speed Operation

New materials and enlargement of variable displace-
ment range have enabled the higher maximum speed.
The ratio of large to small displacement is enlarged
from 2 (old model/MB series) to 3.

3. Various Displacement Control Regulator (3 Type)

A:Directional control valve
B:Sequence control regulator
C:Speed & CHP control regulator (Refer to next page)

4. Electric Displacement Control

The pilot pressure can be controlled by a solenoid-oper-
ated directional control valve or a pressure-reducing
valve.

530]-[Al [C]- [533]/[178]- [001A]- D3]

M3B¥U—X
M3B series
P4 X size
200 :195cm3~106cm?3
280 :280cm3~ 93cm?
530 :533cm3~178cm?3
800 :800cm3~267cm?3

777> 3 UsEa— R optional function code

A 2% standard
B : N—F2ITL—+fF=F fit with a parking brake

ik shaft code
C 2 JISAVRUI—RRATFSAY (9E8)
JIS involute spline (external)
P :JISAYIRUaI—FRTSSA (AK)
JIS involute spline (internal)
1 JISAMU—bF—

(5%)
(standard)

BEM# oil temp. code

i S i &
marks

_ HEEEE
oil temperature range| remarks

IRCOY—IiETvRI A

V2 -20C=0=90C all seal parts: fluoro-rubber,

V1 -20C<6<90C FAWY—DH T vRIL

oil seal: fluoro-rubber
TanZ | 20c =0 =90

blank

D1 [-30C=6=90C

D2 |-45C=6=80C

RETES
design code

IIWEE (cm3)
small displacement

JIS straight key

KBE (cm?3)
large displacement



B {14% SPECIFICATIONS

iz I  /model M3B200 M3B280 M3B530 M3B800
BLDOITERE & X max. Vg, max| 195 280 533 800
displacement - -
cm3 =2 min. Vg, min. 106 93 178 267
5= WA T 18 rated 320 30.0 29.4 (300)
pressure —
MPa(kef/cm?) B B  max 35.0 35.0 34.3 (350)
REO&EmREE n1, max. at Vg, max. 1,900 1,700 1,400 1,200
max. speed
ineL N2, max.at<1/2Vg max. | 2930 2,200 1,700 1,500
&R K w2 / max flow L /min 370 480 750 960
T & b JU 7/ rated torque N‘m 990 1,340 2,500 3,750
E 8 B 71/ rated power kW 200 240 370 470
T —2ZXWHME / case volume L 16 2.2 4.2 6.3
GD2fE ~ moment of inertia N-mz2 1.4 3.0 7.3 14
B mass B2 |[8B % standard 72 93 147 235
kg )\=F27 TU—FE with parking brake 88 110 189 277
®M3BERESFEZR M3B Optional capacities
r =® & B capacity (#E#/standard)
model EBeOEE  max. speed
Vgl [*195/cm?
nx,max/1,900| min-t
M3B200— -
Vg2 | 127[*116| 106 B PXN =constant
nx,max|2,790| 2930 REEH
ngl %*280| 252 max. pressure
EAREN
M3B280 nx,max|1,700|1,770 rated pressure
vg2 | 200 166 149[*140] 132 ]115] 99 | 93
nx,max/1,940[2,060(2,110 2,200
Vgl |%533| 485| 477
nx,max/1,400|1,4201,430 . el
M3B5301\ ¢ > | 370] 340] 327| 315] 2801%267] 242] 212|192 [ 178 e 1. max N2 max
nx,max|1,580[1,630[1,640[1,660 1,700 sTERROmER
Vgl [%800| 751| 737| 653
nx,max]1,200(1,230{1,240|1,300
M3BBOO|, . > | 554] 533] 500] 470] 434] 420 #400] 369 | 321 [ 267
nx,max/1,380/1,4001,430|1,450(1,480|1,490 1,500

B <% DIMENSIONS

[M3B200AC] [ 8 s
[M3B530AC] |[& 7
[M3B800AC] v
% z O
‘w Fl§ B [ jll
%#{45 — S
1A |
(< v
A B {
[M3B280AC] | © P |
=T - %
| SJ?F ‘:i ‘&’{4}‘“‘ .4"")“
SO i = . s
a < v

[M3B200BP] 4
[M3B530BP]
[M3B800BPI

M3B Series

&L +21—% Regulator

A 2RISR

NI DEICKEIA /S RICYIERFT.
B:v—4Y2R

BEORESICR) BEBNICK/NSEIC
YIBRET,

C: Bh—ERlHF + HE RS EH T
BFOEHICH DD S THAENE IR
BEITIDR . SHEBISSIE TS U THEROS R
LT, Fio. SRS EEBUIER 5548
B BIRES CHIE T 5 T & TBRICL BB
HETEET Y,

A : Directional control valve

Shifts displacement small or large by
remote control signal.

B : Sequence control regulator
Automatically shifts displacement small or
large depending on the load.

C : Speed & CHP control regulator
Maintains constant horsepower regardless
of the load.Controls displacement at any
position by pilot pressure. The pilot
pressure can be controlled by a
solenoid-operated directional control valve
or a pressure-reducing valve.

CHP : Constant horsepower

Vg

VE, max.
V8, X
1/2VE8, max,

1
e 4--=
1
1
1
1
!

n
Nx, max. N max.
FrEeRE0ImRE

Il

h
1 e

3
z (O30

PAX/size A B C D E F G H | J K L | M N 0 B Q S
M3B200AP 40 |286 56 | 249 200 | 144 70 | 250 |4-#22| 75 |2x4,M10-175 | 62 | 22 |236| 9 |110 | 198 | m=25, z=16
M3B200BP 40 |368 56 |249 200 | 144 70 | 250 |4-¢22| 75 |2x4,M10-175 | 62 | 22 |236| 9 |110 | 198 |DP=12/24,z=17
M3B280AC 98 |338 45 |299.5| 200 | 130 95 | 268 | 4-¢17| 75 |2x4,M12-175 | 72 |25 |250| 9 | 80 | 255 |m=2.5, z=16
M3B280BP 33 |405 51 [299.5] 200 | 130 95 | 268 | 4-¢17| 75 |2x4,M12-175 | 72 | 25 |250| 9 | 80 | 255 | m=2.5, z=16
M3B530AC 97 389 54 |351.5] 250 | 165 | 119 | 335 |4-¢22| 75|2%x4,M12-175 | 72 | 30 |300| 15 |126 | 289 | m=2.5 z=20
M3B530BP 38 |486.5| 55 |351.5| 250 | 165 | 119 | 335 [4-¢22| 75|2x4,M12-175 | 72 | 30 |300| 15 |126 | 289 | m=2.5, z=20
M3B800AC | 124 |429 64 |391.5| 280 | 178 | 130 | 376 |4-022| 75|2x4,M12-175 | 72 | 28 |345| 16 |1335| 330 | m=3, z=19
M3B800BP 20 [540 64 404 280 | 178 | 130 | 376 | 4-¢22]102 | 2X4, M16-23 92 | 30 |345]|16 |133.5| 330 | m=3, z=19

permissible pressure, speed related permissible displacement, speed related

12



B 48 PERFORMANCE CURVE ROHIE . RIE TR TEETT.

The values given in the below figures are mean ones, and not guaranteed ones.

M'iB 200 SHEMZIZR Mechanical efficiency (%) O BEMEFE-H1EBU—7T Volumetric efficiency
100 100 10
- p=30MPa ‘ % | | - aKef/em?
% —_— | (306kgf/cm?) 0 5= 10MPa(102kef/cm?) D\:\SOMPa p Oé\/IPa(ZO gf/cm?)
el — 9} (306kgf/cm?)
£ 80 £ 80 6 E®
195cm?3 T p=20MPa(204kgf/cm?) e 3¢
100%) *T , = =l
(100%) ws 70 p=10MPa(102kgf/cm?) 82 70 4 2 By
R =] = 2 - o5
§§ %g p=30MPa(306kgf/cm - 23
€0 &0 o4 beWPAoakefmd
-ooC :::::::':_————"'— p:1(I)MPa(102kgf/cmz)
50 50 r 0
0 500 1,000 1,500 2,000 0 1,000 1,500 2,000
O#n®E speed mint BE&EE speed mint
100 _p=10MPa
‘ 100 [(102kgf/cm?) 10
—— p=30MPa —
- 90 \wif/cmz) 5, 90 //\T 8 30MP &
3 — g p=20MPa p= a
g T [~ g (2pakef/cp  (G0skef/c?) £,
106¢cm?3 Z 80 \ < £ 80 658
(9] ()
(59%) =3 I~ g i
= 4 © ~ 453
#5 70 "~J_p=20MPa(204kef/cm?) gg 70 p=30MPa(306kgf/cm?) e
§°§ \ ] No-T77 |-~ 52 20MPa(204kgf/cm?)
60 p=10MPa(102kgf/cm?) 60 _ == _-F- Jo===12
| —==F£ZZ2doo=-12 Tl -==17 Tp=10MPa102kef/cm)
50 50
0 500 1,000 1500 2,000 2,500 3,000 g S8 1'%;2%;?2; . z'r(n)?n?l 25003000
O#nEE speed min! =
SEEFFER Starting mechanical efficiency €57 )ViEE Radial load
1,000 .
(100 Loser M3B200DEHEICIF SV 7 ILEEIFER CEFE Au.
o 800 = No radial load shall be applied to M3B200.
f‘égr 600 100% /
=5 0 8s% 106¢m?
o8 400 m
33 o 100% ——
g—g%ﬂ 500 //%% 85
£ @O =
we 0
0 5 10 15 20 25 30 35
(51 (102) (153) (204) (255) (306) (357)
ZE[E different pressure Ap MPa(kgf/cm?)
S EEFHERENMRRIET—ZNEAEHR Idle & boost-graph O FEFE Shaft creep speed
5 0.1 5
1) (1.0) .3
= = D 4
5 4 008 5 'g%
® (40) © E"w 23
= 5 , 006 &3 .@;"Hg . e
2 @0 7 @ =g N
= 106V pbs(195~106cmy) B2 Y
r5 2 — — 004 2SS ” I
g o / === o f® o
S L === [195cm® g 0 5 10 15 20 25
T2 (o ——= a2 .8 (5D @02 (153)  (04)  (255)
ED — - ;ﬁg JU—FE pb MPa(kegf/cm?)
0 =" 0.0 braking pressure
0 100 200 300 400
B flow L/min
O . . ~ roy i H | O H H
W 5234 Bearing life mooogjjl:uh!mﬁﬁup Front bearing life Q_Jﬂm&%un Rear bearing life
ARIFEEEENO=1,000min 1DEEDEEF (B105A 7)ERL TN N L\ ¥
FI, B280 NN M3B200
BOOEREN BLDITEREVE X TCOEEHFGIF FHICTKRHTL
ZEW, 100,000
The calculated life(Bwo life) shown in the graph is for £t M3B800
speed No=1,000mint g <
Calculation of life for a random speed N and a random :g \
displacement is as follows. = 3 X
&2 10000 N\
V81l NO &3 N
LX=—=. — X | & M3B530 N\ ¥
VeEx N2 N\
Lo :BxFsHR refer to this graph N
0
‘= =3 i (¥ Note) 5 10 40 5 10 40
Ve LRAHLOIER max. displacement D1 ACE inlet pressure 51 (102) 408) 5 (102 408)
[E 71 pressure P1+P2 MPa (kgf/cm?) [E 71 pressure P1+P2 MPa (kgf/cm?)

P2 :OFEH outlet pressure



M3B280

100
p=30MPa
| (306Kkaf/cm?)
90 —_—
>
S \ p=20MPa(204kgf/cm?)
280cm® 5 °
(100%) 2T p=10MPa(102kgf/cm?)
S 70
A5
29
®BE
60
50
0 500 1,000 1,500 2,000
O#n#EE speed min?
100 p=30MPa
(306kef/cm?)
90 = i
g — p=20MPa(204kgf/cm?)
140cm* £ %
Py o
(50%) ®g p=10MPa(102kgf/cm?)
s 70
=S
Eao
BE
50
0 500 1000 1,500 2,000 2,500
O#®E speed min!
100 I
p=30MPa
o e E— (306kgf/cm?)
> — \
(€} \
c \
)
£ 80 \
93cm? - p=20MPa(204kgf/cm?)
(33%) 2 70
22 h
EQ
®E g p=10MPa(102kgf/cm?)
50
0 500 1000 1,500 2,000 2,500
O#m®E speed min!
@ITERNE Starting mechanical efficiency
1,600
g 60 100%
ég 1(,12200c)) 280cm3
4 85%
.E,g i //
zZ_ i
3 (80 100%
Qb = | | _— 140cm?
28 400 = = e
g =
B é? 70%
W3 0
0 5 0 15 20 25 30 35

MEFHRLES pid MPa(kgf/cm?)

idling pressure

SHEEMFNE Mechanical efficiency (%)

(51) (102) (153) (204) (255) (306) (357)
#Z=[E different pressure Ap MPa(kgf/cm?)

SEETHERER-RET — X NE/E dle & boost-graph
5

(51) 1.0 z
4 008 =
(40) o <
&
3 n Pbs(280~93cm?) — %?6 =
(30) 93cm? s 8
td
”
2 0.04 E
(20) o z
280cm? i
1 002 ¢
(10) 0 =
i
0 0.0
0 100 200 300 400 500

i@ flow L/min

min. boost idling pressure

M3B Series

JHE/0il temperature:50°C
#E/0il viscosity:32mmz2/s

O BTENE-HBU—T Volumetric efficiency

100 10
— - -
% p=20MPa(204kgf/cm?)
> 0 — (102Kaf /o p=30MPa 8
g p=10MPa(102kgf/cm (306kgf/cm?)
— c
5 £
£ 80 6 £8
() a2
XL P
o D =30MPa(306kef/cm?) . ST
#% 5o P gem) | - 2 By
RS N~ B5
235 - &5
w> = -
60 | === =2 2
-_— _____—" DZZOMPa(ZPAKgf/cm?)
-——=1T e e====T77 p=10MPa(102kef/cm?)
50 ====a === 1 0
0 500 1,000 1,500 2,000
E#mEE speed min?
p=10MPa
100 ——(102kef/cm?) 10
//
90 8
>
@) p=20MPa p=30MPa c
5 -~ (204kgf/cm?) | (306kef/cm) £g
£ 80 6 J%
‘o 151
£y p=30MPa(306kef/cm?) L7 s
E a2
#T 70 L2 483
23 _4--"" _-="[p=20MPa(204kef/cm?)
> &= = 2
60 [ --- J 1=
—==== T —4==""7 | p=10MPa(102Kkgf/cm?)
50 — -2 0
0 500 1,000 1,500 2,000 2,500
O#ImEE speed min!
100 10
p=10MPa (102kgf/cm?)
90 8
15 p=20MPa  P=30MPa(306kgf/cm?) £,
S g0 A~ (204kgf/cm?) —] s £
£ \ | 43
XL - i)
= p=30MPa(306kgf/cm? 1~ 2 =
g 70 e ‘452
@2 - ’/’ =0°
o
@ws _-~pLoomMpPa204kef/cm?)
60 ‘ N 2
—==="p=10MPa(102kgf/cm?)
50 ‘ I'o
0 500 1,000 1,500 2,000 2,500
O#ImEE speed min!
= e . . .
OS> U7VEELHZHE® Radial load and bearing life
1,000,000 T == ;
= symbole
bl i
L= D units deg N
© S 100,000 D 90 0
o @ | 90] 7,000
& ® | 90 14,000
0 @ 0 (14,000
oo Y
ﬁﬁg 10,000 © |18014,000
0 3 a =755mm
O -~ Vg =280 cm?
1000 z =1,000 min*
5 10 40 b Fald 12EOTERESRES L,
Regarding ¥, F and a, please refer
73 pressure p1+p2 MPal(kgf/cm?) to the figures of DIMENTIONS in page 12
SREFHHE Shaft creep speed
5
- 4
To
=a 3
IS é /
[} A
‘IM 5 2 /
aNE
A% 1
NG
0
0 5 10 15 20 25
(51) (102) (153) (204) (255)

JU—*E Pb MPakgf/cm?)
braking pressure

14



15

I 1488 PERFORMANCE CURVE

M3B530

100
p=30MPa
—_— | (306kef/cm?)
. 90
g p=20MPa(204kgf/cm?)
‘O
e 80
533cm3 3 p=10MPa(102kgf/cm?)
X'©
100% S,
( 6) wE 70
R
By
BE
60
50
0 500 1,000 1,500
O#m®EE speed min!
100 I
— p=30MPa(306kgf/cm?)
\\\
g \ —
g p=20MPa(204kgf/cm?)
2 80
267cme S ~_
©
(50%) M% 20 p=10MPa(102kgf/cm?)
®E 60
50
0 500 1,000 1,500 2,000
O#EE speed min!
100
— p=30MPa(306kgf/cm?)
90 :
>
~
g 80 S
178cm3 o \ p=20MPa(204kgf/cm?)
R®
@3% 12, ~
R N
: é p=10MPa(102kgf/cm?)
60
50
0 400 800 1200 1600 2,000
OEnEE speed mint
QHECENFNER Starting mechanical efficiency
3,000
2 (300) 100%
: 533cm3
23 2000 4 85%
£5 (200 /
zx % = 100%
Q£ 1,000 267cm?
Z o (100) 85%
w 100%
Jg 300 178cm
HE (50 S
&5 70%
Hy 0 o

EEFEHEAES pid MPa(kgf/cm?)

idling pressure

SHEMZIZE Mechanical efficiency (%)

SEETHER IS RIE T —AMNEAR Idle & boost-graph

5
(51)
(40)

3
(30)

©
=)

=
8

o

5 10 15 20 25 30 35
(51) (102) (153) (204) (255) (306) (357)
7E[E different pressure Ap MPa(kgf/cm?2)

178cm?
267cm? pbs(533~178cm?)
/ N-~
f”
== 533cm?
e
f"
0 200 400 600 80
g flow L/min

RIET—ZNEF pbs MPal(kgf/cm?)
min. boost idling pressure

OB, RIHBE Tl R<FHIHETT
The values given in the below figures are mean ones, and not guaranteed ones.

O TENE-H1BBU—7T Volumetric efficiency

100 50
/
 ———— —
=20MPa(204kgf/cm?2)
e — ST o-2oupacosian
g p=10MPa(102kegf/cm?  p=30MPa
2 (306kKgef/cm?) =
£ £
i 8 80 30 :Q
= <8
£g 70 20 E8
2 p=30MPa(306kgf/cm?) =3
ws -
60 \—p=20MPa(204kef/cm?) — === _=== 10
B e WLy p=10MPa(102kgf/cm2)
50 e e
0 500 1,000 1,500
OEm®EE speed mint
p=10MPa
100 —(102kef/cm?) 50
X 40
> 90 / \\
c
@ p=20MPa  p=30MPa(306kgf/cm? £
< 80 / (204kgf/cm?) 30 E %
‘@ —x
R oo
= I «
i 20 &
£e 70 p=30MPa(306kef/cm?) _|~ B
2 Pt %0
ws -~ -
60 [P=20MPa(204kgf/qm?) =" ==t 10
e - p=10MPa(102kgf/cm?)
50 jefenpenpenys R o
0 500 1,000 1,500 2,000
OEn&EE speed min!
50
oo p=10MPa (\E‘Ozkgf/cmZ
p=20MPa(204kgf/cm?)
90 // — 40
>
e —
i / % g °
£ 80 + p=30MPal306kef/cm3 o 30 5 &
[}
RL / frd 3
gl 70 - 20 B2
B2 p=30MPa(306kgf/cm?) T ®0
ws -~ _
60 1 p=20MPa(204kef/cm?) =" omt” 10
—===qZZI3-7__L--"Dp=10MPa(102kgf/cm)
50 = 0
0 500 1,000 1,500 2,000
O#m®EE speed min!
— s A . . .
OS5I 7iEEL#ZER Radial load and bearing life
1,000,000 P
o s v F
@’E symbole
i UL gy N
e D units g
9 100000 [ 2 ® | 90 0
-2 @ | 90] 9.000
L ® | 90]18,000
oo @ 018,000
2 oo N A
f&g 10,000 | ©® 18018000
X D Z S a =70mm
BO ~c N Vg=533 cm’
1,000 n =1000 min*
g 10 o Fals. 1B ERESBR,
Regarding %, F and a, please refer
[£73 pressure p1+p2 MPa(kgf/cm?) to the figures of DIMENTIONS in page 12
QIRFHFIE Shaft creep speed
5
o 4
Te P
£a
EZ 3
&
R 1
0
0 5 10 15 20 25
(51 (102) (153) (204) (255)

JU—*FE Pb MPa(kgf/cm2)
braking pressure



M3B800

800cm?
(100%)

400cm3
(50%)

267cm?
(33%)

QSHEMFIZE Mechanical efficiency (%)

M3B Series

JEVE/0il temperature:50C
F5EE/0il viscosity:32mmz2/s

OTENZE-NEBU—7 Volumetric efficiency

100 ‘ 100 | 50
X
90 | === P=30MPa(306kgf/cm?) . % XJ p=20MPa20gker/cm?)
> —— o = =30MPa 40
=10MPa(102kgf/cm? P
g BRSNS g PTIOMPRUIZIEUE™Y  ockeicm) .
S p=20MPa(204kgf/cm?) £ EY
€ 80 £ 80 30 £
5 \ [5) v
RT p=10MPa(102kgf/cm?) ®2 -8
= Mo iy
5 70 5E 70 20 52
25 =5 p=30MPa(306kgf/cm?) _ =0
e > do-
€0 = — — 10
- o —===7"" p=20MPa(204kgf/cm?)
50 50 oooIoLCICIl L —-4--""p=10MPa(102kgf/cm?)
0 500 1,000 1,500 0 500 1,000 1,500
O#EmEE speed min! OEmEE speed min?
p=10MPa
100 100 [ (102kef/cm?) 50
p=30MPa A/
(306kgf/cm?)
—_
90 40
> —\"\\ 2~
c c p=20MPa p=30MPa(306kgf/cm?) c
ki L 2 =
g 80 \\ S g0 (Q04kef/cm?) 30 £%
k2 =20MPa(204kgf/cm?) 2 ‘ -3
23 P R p=30MPa(306kef/cmd) -7 £
wc 70 ¥T 70 | 20 By
ﬁg p=10MPa(102kgf/cm?) =E ‘ o %545
R i ©
8% 23 p=20MPa(204kef/cm?) o~ -
£E ¢ "7 60 2 Bl 10
= \‘ Pid
- = -1
50 50 s - ===1" h=10MPali02kef/cm) | o
0 500 1,000 1,500 2,000 0 500 1,000 1,500 2,000
O#EmEE speed min! O#m®EE speed min!
100 100 T 50
p=10MPa(102kgf/cm?
p=30MPa e
90 (306kgf/cm?)
I < 2 % 7~ —— 40
c c
Qo \\ 2 /)/ = £
£ 80 I 2 w0 S oMPa p=30MPa(306kgf/cm?) w0 ES
@ S (204kgf/cm?) )
it p=20MPa(204kgf/cm?) ) | P >
=3 \ £ p=30MPa(306kef/cm?) - E:
weE 70 e 70 ~Z 20 g2
W ® £ 3 =
RS ME Pid ENye]
Bo p=10MPa(102kef/cm?) WS p=20MPa(204kgf/cm2), A~ -
ﬁ E 60 2 - ’f
60 - - 10
== E -~
50 50 L] == T p=10MPa(102kef/cm?) o
0 500 1,000 1,500 2,000 0 500 1,000 1,500 2,000
O¥EE speed mint Oé5&E speed min?
QIEEENFNZR Starting mechanical efficiency &S IU7IVEEEEEHE Radial load and bearing life
4,500 1,000,000 =
~ = |,
z (450) 100% B Sy;:io\e F
<o 3,355000 800cm? £ units_|de8| N
0 &
2g %0 = 85% o2 100000 o Tl o
259 2(,255OOC)) = T00% jz @ | 90| 9,000
3 400cm? = Q 90 18,000
2 £ 1,500 // 5% & 10000 @ 0 [18,000
23 (150) |__— —1100% e ® |180[18000
R / 4// 267cm3 nE a =92mm
He 200 70% 283 Vg =800 cm?
EE (50& 1,000 - n = 1000 min!
& |
0 5 10 520 25 30 35 5 10 40 FARIZEOTERESRCES .
(51) (102) (153) (204) (255) (306) (357) Regarding ¥, F and a, please refer
#=[E different pressure Ap MPa(kgf/cm?2) £/ pressure p1+p2 MPa(kgf/cm?) to the figures of DIMENTIONS in page 12.
S EETIERENME RIET —ANESRER Idle & boost-graph S {RFFME Shaft creep speed
5 0.1 5
6D (10) ~
f= 5 o 4
S 4 0008 Eu 3
%" (40) (0) eré © E S 3
© a2 =%
[ bs(800~267cm?) —| 0.06 5@ [
he) -~ o =
B - gy S I P = ?:E ! —
EN=] -~ . =l 0
Ha (20 4 goocm® | (0) HH=Z —
kg / g / L 0
pw 1 = 002 1§ 0 5 10 15 20 25
EE 10 = 0 Bbe 5D 102 (153 (204  (255)
" 0o BE JU—+E Pb MPalkef/cm?)
09 200 400 600 800 1,000 braking pressure

72 frow L/min

16



17

B F+1L—9—% "REGULATORS

&/\1 Ok, Pilot Control

J—R HlfEZ = HllfE#RE rogerey Ppxy
code control type control curve BEEBLURR
2MBRAT A TBE)R
CHRERIE)

two position negative
displacement shifts
(pressure control type)

Ve.1 —I—
Vg2

1.8 MPa

INAOYNEAICK) FHRESN2BEZX AT« TITUHRZE T,
N OYNEH2.5~5.0 MPaD#HENUETT,

2MBRAT A TBEUR
(BXUHIE) )
two position negative
displacement shifts

(elctorical control type)

Vg1

Ve.2

BEEDICEY. POHERESN2BEZXAT AT (CYHRAFT .
N OYNESH2.5~5.0 MPaD#HENUETT,

2MBERAT« T BEHE
two position negative
displacement control

Ve,1 {2
Vg2

\Y
I

ANBRISELEHIL T, PHRESN2BBE CEEEERICR AT+ THIHTEET .
N4 OvhEH4.0~5.0 MPaD#HEI RE T,
IRAEERTE 1 D356mMA (1.2 MPa), V&,1(100%) @644mA (3.5 MPa), Vg,2(33%)

SMIBRAT T BEHIH
three position negative
displacement control

Ve, 1

Ve x
Ve.2

ABNBRICEEAIL T PHRES NI 3BTBE CEEZARICR AT THIE TERT,

N OYNEH4.0~5.0 MPaDEHENUETT,

RAEEERTE : @319mMA(0.9 MPa), Vg,1(100%) @393mA(1.5 MPa), V&,x(50%)
®581mMA(3.0 MPa), Vg X(50%) @626mA(3.4 MPa), Vg,2(33%)

MBI T« TEEYNA
(BBHIE) .
two position positive
displacement shifts
(elctorical control type)

Vg1
Ve.2

BEEDICE). FOHRESN2BEZRIT 1 TR ET .
INAOYNEH2.5~5.0 MPaD#E A ET T,

BRI T« TEEH|EH
two position positive
displacement control

Vel

Ve.2

ANBRICEFLC. FPORESNI2BBEA TCEEEERITRY T+ THETEXT,
N4 OvhEA4.0~5.0 MPaD#HEH RE T,
AT 1 W100mMA (3.5 MPa), Vg,2(33%) @509mA(1.2 MPa), Vg,1(100%)

IMBRY T+ T2
three position positive
displacement control

Vel

Ve x
Ve.2

ANBRICHHLT, FPORESNI3BEB TCEEEARICRI T THIETEET.

N1 OvhEF4.0~5.0 MPaD#ENUETT,

IREERTE : W156mA(3.4 MPa), Vg,2(33%) @244mA(3.0 MPa), Vg x(50%)
®469mA(1.5 MPa), VgX(50%) @539mA(0.9 MPa), Vg,1(100%)

S BEHHE.Automatic Control

J—R HlfERZ = HlfEHRE RS
code control type control curve BEESSUHR
BEHEHER L

al

without automatic control

SR P21 vg< INBETHERAULTVWSBEIC. BEHNKELBDEMEDENTEHNICATE
[b] [CHIBDUET, ZD%. IEDEAIC FHDF TABBERFLET.
sequence control a4 e
P1-2}/- T IBAEERE 1 P2-1 = 25 MPa, P1-2 = 4.3 MPa
EE S )— T BECIRUCHEDENCRDILSICEENELULET AEDES
constant horsepower EERTNIN E g1 | UTFTHNEE ZNULTIEABRICRIET,
control 82 . TEAERYE 1 D2-1 = 25 MPa
BRI R B HIRIES TR N
;glenoid operated switching valve specifications Ssglenoid operated proportional valve specifications & M3B200RAL+2L—9 . M3B200 Regulators
BEEAEN 13.7MPa L£1~97-KNo.
max. pressure 13.7MPa BEEREN (BLAIE3.9MPa) Cgée No. o 1a 1b
AT max. pressure (3.9MPa in case
iy DC24V of inverse proportion)

rated voltage

TENHESE
rated consuming
electric power

=17W(24V, 2070)

BEARTY
standard connector

=Z&R Z02M-GY(2P)
Mitsubishi Cable Co,,

® XU I 4K /connector shape

]

===

(=) BV —RiREE

cable color blue

rated electric current | 700MA

HER T —

recommended 80Hz/200mAp-p T

dither power @E%

O JVIEHTE éIrCUIt
ATVE % jagram

coil resistance value | 17-50(200) &

BREIRTY =Z&R 702M-GY(2P)

standard connector

Mitsubishi Cable Co.,

(+) RV — RiRTRE
cable color red




function & features

Two prior set displacements are shifted negatively by varying pilot
pressure. Hydraulic pressure from 2.5 to 5.0 MPa shall be provided
as pilot pressure.

Two prior set displacements are shifted negatively by varying
voltage. Hydraulic pressure from 2.5 to 5.0 MPa shall be provided
as pilot pressure.

Displacement is determined between two prior set volumes in
inverse proportion to electric current. Hydraulic pressure from 4.0
to 5.0 MPa shall be provided as pilot pressure.

Standard set conditions:

®356mA(1.2 MPa), Vg,1(100%) @644mA(3.5 MPa), V&,2(33%)

Displacement is determined among three prior set volumes in
inverse proportion to electric current. Hydraulic pressure from 4.0
to 5.0 MPa shall be provided as pilot pressure.

Standard set conditions:

®319MA(0.9 MPa), Vg,1(100%) @393mA(1.5 MPa), V& x(50%)
®581mA(3.0 MPa), Vg x(50%) @626mA(3.4 MPa), V8,2(33%)

Two prior set displacements are shifted positively by varying
voltage. Hydraulic pressure from 2.5 to 5.0 MPa shall be provided
as pilot pressure.

Displacement is determined between two prior set volumes in
proportion to electric current. Hydraulic pressure from 4.0 to 5.0
MPa shall be provided as pilot pressure.

Standard set conditions:

®100mMA(3.5 MPa), Vg,2(33%) @509mA(1.2 MPa), V&,1(100%)

Displacement is determined among three prior set volumes in
proportion to electric current. Hydraulic pressure from 4.0 to 5.0
MPa shall be provided as pilot pressure.

Standard set conditions:

®156mA(3.4 MPa), V8,2(33%) @244mA (3.0 MPa), V&,x(50%)
®469mA (1.5 MPa), V& x(50%) @539mA(0.9 MPa), V&,1(100%)

function & features

During small displacement operation, when the load increases and
the pressure reaches to a certain point, the motor shifts into large
displacement operation. Since then the motor maintains the large
displacement operation until the pressure declines to a certain point.
Standard set conditions: P2-1 = 25 MPa , P1-2 = 4.3 MPa

Displacement varies in order to maintain the pressure in line with
the load. The motor maintains small displacement operation until
the pressure increases to a certain point, and then shifting into a
large displacement operation.

Standard set conditions: P2-1 = 25 MPa

M3B Series

(£1) M3BE—90DLFaL—9F AFEBR—NOBERIDESZR
RUEBILE S 12120, 2MPaI P CERIH TEREADT. Y —R
[FEHHE T DMBENSHIFT,
E3/=N WEW?@H%F?’EL%ﬁ?%lgl&*)@tﬂtﬂj WEZHE T DN
HIFET. (THER)

(£2) M3BE—9ID/ S+ OvhRIEERIZ/ N Ovb ZREZERAT 4TIV
rO—ILLTWVET,
J—RNO.2- 4R AT« TEEHIH . BHEIRFF I FBHLLEIF
ZEERAUGVWTER/ A Ovh2REEHHELUTRERAT 220
TEFY,

(E3) B#EeEEERI2HBGE T/ OvEEAITI\SE
BRELCHBMNENDIFT,
RO BEHIEEEED/ N O MlEEEERUELESNE T,

(X4) TI—RNo.b,coBEEHIEIF. ARTEBR— DB ERDEHZZRER
UEBILE T,
FFPVat)UiREE U T A BIR—RDZEEp 1-p 2| #ki5 (131 E =
Y TEFITBLFaL—IBHIFT,
CHREDB TR THEHLIEE .,

(Notel) The regulator in M3B motor operates choosing the higher
pressure port between A and B port. If the servo pressure does
not hold more than 2MPa, servo pressure must be provided.

If you need to shorten the time of shifting displacement,
proper servo pressure must be provided. (Refer to below fig)t

(Note2) Pilot control section in M3B motor controls pilot second
pressure negatively.
Negative displacement control of Code No.2-4 may be conduct-
ed by providing pilot second pressure directly without using
solenoid operated switching valve or solenoid operated
proportional valve.

(Note3) Small displacement instruction must be provided on the pilot
control side before using automatic control operation. Automat-
ic control operation precedes pilot control operation.

(Note4) The automatic controller of Code No. b and ¢ operates choosing
the higher pressure port between A and B port.

The regulator operated by the differential pressurelp1-p2l is
also available as optional function and if necessity arises,
please contact us.

OEH&IEERIFRT . Tilting time, pressure related

S 3

- M3B200-
1Vg:116=>195cm?

t (sec)
D

37 Vg 100850%

t (sec)

N

w

i
<

@© f
8\

g £ /M3BSOO
I 2 - M3B200T 2 | N
§2 | vesssuean — | g2
L AR M3B280
0 5 10 0 5 10
(1) (102) 51 (102)

£ 3 pressure p MPa (kgf/cm?) £ #1 pressure p MPa (kgf/cm?)

4M3B280,530,800AL+21L—9.”M3B280, 530, 800 Regulators

2c 3c 4c

18



19

B E—9HliEFASEE/\NL T VARIOUS VALVES to CONTROL MOTORS

BV3XM3BYU—XE—Y[CIF. E—IRETSVIICE
BRI ORERESREAE/NNIL T ZARLCVE T,

) E—IENIWTDRFPEDBICK>TF BRI RETT,

FEE > kO—)LNILTD Swing control valve

®KSC19

I JU—S A4 FOie@ I O—)LNILT T,
Swing control valve of neutral free type.

NIV F4R Valve specifications

REERES

max. pressure 30.9MPa (315kgf/cm?)
rated flow 200L/min

XA VU= TFREEEENEE 14.7~30.9MPa

set pressure range of main relief valve

(150~315kgf/cm?)

HBYIVIEE 2
allowable back pressure Llilre (dabeiem)
INAOYRED 0.29~2.51MPa

pilot pressure

(3~25.6kgf/cm?)

®KSC19L

Pa,Ps,Pia,Pis,Pr : G1/4
P,PcR: G3/4

Py TU—EOvIZYRA R E@ I O —)b

NILTTT,

Swing control valve able to switch neutral

free and lock.

NILTE#R Valve specifications

BefERED

Max. pressure 30.9MPa (315kgf/cm?)
rated flow 200L/min

XA VUU—TRFEEHEE 14.7~30.9MPa

set pressure range of main relief valve

(150~315kgf/cm?)

BRI VIEE
allowable back pressure

1.5MPa (15kgf/cm?)

R S—=IVA LU TH(TU—) 0.5~1.6MPa
spool spring force (free) (150~315kgf/cm?)
2 S—=)VZA TSI TH(OvT) 0.5~2.4MPa
spool spring force (lock) (5~16kgf/cm?)
R—NJU— T EJR{EBIE S 2.5~4.9MPa
switch operation pressure of port relief (25~50kgf/cm?)
TU—E—RJIER—NPio)EA | (Pio)max.+

pressure for free mode switch port (Pio)

2.9MPa (30kgf/cm?) L E

EwFER#R Solenoid valve specifications

RefERED

Mmax. pressure 8.3MPa (85kgf/cm?)
U—og 36¢c/minA ™
leakage (at 28cst, 2.9MPa(30kgf/cm?)
YU/ REEBE

solenoid rated voltage DC24v
EASEEZE i

TESEE A ENEE 20.4~29Y

voltage variation range

Y—IFS5—ftEF with anti surge

Pa,Ps,Pa,Ps,Pa, Py, Pia, Pib, Pio,Pr:G1/4

P.Pc,R:G3/4

WVarious control valves, attachable direct to flanges of
M3X/M3B series, are available.

(Note) Some combinations of motors and valves need conversion plates.

211 ‘ 211 AM| — |BM
8 PA1,: ----%Ps
S Pig t---- W--JPiA
— |
TR
Pis. _ @ANPAr Per..-I. ..... G| ‘
L E—
Pc P
2 SHERRS
hydraulic symbol
112
oo e
o Y 2 N = Pa
Pi—&—H P & 77?
T U T > Ir I a
Pis I,J k.l Pia 9 R
<kl
2 : el o : 7
>t P (@ P,PB
of —urmr i
AM Y B[ o i
8-M12 !
_P P |
_E}«’_< ........ T SR W
) o s Pe Pr Pa
8 (£ ¥s i1
P+ EVIF -y p0 e e
+ ' Pib % <A P Pia
pu B
o N /
= \\II /
- !
|
191 191
JHEEES oTh , oh
i 4 b1
Pp*i.'?@-.j P
Pib P “%4 Pia
o
9 R
- 1=
R o———9 E=S ——5 W
T )
fb FL\{“ ‘ P
N BM AM
8-M12 @35‘ #35
1
496

218.5

{ PL
| |
-—g—:l — Q/ \@ - _— ,i‘
—Ji D) \‘Fﬁ% =
o — ~ —
mT i1 =18 N/ -2 | 1l
Pio Pe| ©/ |Pa
75




M3B Series

94 VFRAOVINSVANILT Counter balance valve for winch

2x4-M10xP1.5

®KDC28MR
BAE—:M3X/B 200

Applicable to M3X/B 200
INIL TR Valve specifications

REEHESN 34.3MPa (350kgf/cm?)
max. pressure

BARE .
T 350L/min
UU—T$EE (30L/minks) 14.7~30.9MPa

set pressure of relief valve (at 301/min)

(150~315kgf/cm?)

A OvNTSvF VT EN

cracking pressure of spool 0.7MPa (7kgf/cm?)

FIVvIRISVFIIEN

cracking pressure of check valve 0.7MPa (7kgf/cm?)
®KDC30MR

BAE—9Y:M3X/B 280, 530, 800
Applicable to M3X/B 200, 530, 800

NIV DR Valve specifications

BeERAES

max. pressure 34.3MPa (350kgf/cm?)
BARE !

e T 500L/min

UU—J#8EES (30L/minks)
set pressure of relief valve (at 30L/min)

34.3MPa (350kgf/cm?)

NAOYNIZvFIITHED
cracking pressure of spool

0.7MPa (7kgf/cm?)

FIvIRISVFIIEN
cracking pressure of check valve

0.03MPa (0.3kgf/cm?)

AM

-

j
|
J

ail

SHEES

hydraulic symbol

®KDC40MR

BAE—9Y:M3X/B 530, 800
Applicable to M3X/B 530, 800

NIV T{E#F valve specifications

BaEAEN

max. pressure 34.3MPa (350kgf/cm?)
RAME !

R e 780L/min
UU—=TRRRRE )

max. flow of relief valve 300L/min

UU—TJHBERES(0.4~0.6L/minks)
set pressure of relief valve (at 0.4~0.6L/min)

27.5MPa (280kgf/cm?)

A OvNISvE VT EN
cracking pressure of spool

0.69MPa (7kgf/cm?)

FTvIRISVFIIEN
cracking pressure of check valve

0.03MPa (0.3kgf/cm?)

257.5
147 53
75
36 23802
—+—1 b1
o LLE
N
& ..
n
] 09
0 . 7&
S Ha M10xPL5
e i
M= 2
BM ——
112

2X4-M12X1.75

191
84

M12XP175

59

O AFE/A type

2x4-M12x175

S N y

S| 4+ MI2XP175
o e
BM

d
G3/8

84
191

i

i

(&)
59

O AXFE/AX type
AFEDBERIEWETT,
Reverse connection type of A type al
G1/4
361
s 41 202 /
+0.25
o 100 /51

230
103

AN Y
5 ©

7
>

N

,_
&

22

[

s
& @Hjﬁl

2X4-M16XP2.0

M16XP20




21

EITRADVINSVZANILT Counter balance valve for driving

Bw

FEIERDYavI ZER TESYav I VAU —
NI TZNBLUTWET Fe. E—9 DR
TU—=F= NV T TEERRLED .

Built-in shock-less relief valve enables
smooth deceleration. This valve also
automatically releases negative break in

motor.
4B25C

BAE—9:M3X/B 530, 800
Applicable to M3X/B 530, 800

NILTE#k Valve specifications

= heay—%
ERSE

rated flow 240L/min
BARE )
max. flow 350L/min
=aERAES

max. pressure

30.9MPa (315kgf/cm?)

UU—THEBEEN
set pressure of relief valve

Ps=30.9MPa (315kgf/cm?)

2T—)VRES
spool shifting pressure

FHOEN

cracking:0.91MPa (9.3 kgf/cm?)
1BREES)

reseat:0.78 MPa (8.0 kgf/cm?)

€4B35C

BRAE—9:M3X/B 530, 800
Applicable to M3X/B 530, 800

NILTE#k Valve specifications

AM|  BM P
J. L= % B1
i = 1 1
AAbllEellik, | |
[ dex]
gi L,i,ﬁ’l
AV BV
JHEEES
hydraulic symbol

153

P1
RC1/4
2-040 015
aM_| |p| / BM
: T :T,qu I\
A ey | | qp ! ! E
S —
f—— 4
oy T T -—~
R —
v ‘ ’:TI’l'I—" X
L] i e
LT
T ==
Al B1
2x4-M12
7 B
T i
3
g~ <
O~
n
~
™

P AM, 4
ERERE : T T
380L/min N 7 il
rated flow , |
BATE : 5 Y /A
max. flow 500L/min - (
BSEAES . S q
g e 34.3MPa (350kgf/cm?) & §
DU—TFHEREES _
set pressure of relief valve Ps=36.3MPa (370kgf/cm?) ‘-A-‘ ]
HOEA Al
AT —)VHRES cracking:0.78 MPa (8.0 kgf/cm?)
spool shifting pressure EREES
reseat:0.69 MPa (7.0 kgf/cm?)
2X4-M12
1235 400
318702 /
3 ~ _/ ©--—¢ 5 Tr D&\ I g
S % G
+
oA | | YB
% N 2
2 5] OO/ O © I
2 = 7 = Ny 3 I T ~j 9 - [ I
S P TN\ [ I ] (AR N I 1
0 N B : ) 1§ : H
A = o
] T Al n
] AM.BM 9/16-18 UNF @
B1
102 9/16-18 UNF
407




75w NILT Flushing valve

JO0—XROETRER—NNEESHEFv—
L. OEORE LRZ/HIELET,

This valve charges the low pressure port
with working oil in closed circuit and
prevents rise in temperature of the work-

ing fluid.
®FV30

NIV TR Valve specifications

140

318

M3B Series

64.8

50

BEERED
max. pressure

37.8MPa (385kgf/cm?)

BRRE
max. flow

275L/min

BEUU—TJREEN .
set pressure of high pressure relief

34.3MPa (350kgf/cm?)

145

BIEUU—TEEES (70L/mink)
set pressure of low pressure relief(at 70L/min)

1.8MPa (18kgf/cm?)

AT —)UIEEES
spool shifting pressure

2.0MPa (20kgf/cm?)

50

104

FrvI#70v7 Check valve block

104

JHEEES
hydraulic symbol

FrETF—2aVEBHIET BIcHICERLED,
This valve prevents cavitation.

100

Pa,PB
G1/4

JHEEES A B A1B1,C:G1

hydraulic symbol

€\V/BS-199
INILTE#R Valve specifications
ReEAESD
Max. pressure 34.3MPa (350kgf/cm?)
BAME )
max. flow 780L/min
FIVvIRITVFIIEN
cracking pressure of check valve | ©-03MPa (0.3kef/cm?)
™M
n
[e)]
~
—

112

UL |

40

Ly
o

ff
i
i
i

22



23

TEEST 7 FvIVEANE—Y
Axial Piston Motor with Reduction Gear

M3X/M3B'RG Series

B {14% SPECIFICATIONS

. . M3X280-RG06S6.4| M3X530-RG10S5.7 | M3X800-RG16S56.4
i = /model M3X200-RGO355.7 1y 13380-RG06S6.4| M3B530-RG1055.7| M3BB0O-RG 1656.4
BLDIFERE displacement cm? 149 252 533 800

E # HE 73/ rated pressure MPa(kgf/cm?) 21.9 (223) 20.6 (210) 20.6 (210) 19.6 (199)
REOEEE ~ max. speed min—1 270 190 150 130

& KX i 2/ max. flow L /min 230 310 450 670
EEREINLT / theoretical output torqgue N-m 2,930 5,280 9,870 16,000

B =R . gear ratio 5.65 6.40 5.65 6.4

% ffi & 2 totaldisplacement cm3 840 1,610 3,010 5,120
FBSY7IEE  allowable radial force L 58,800 88,300 118,000 157,000

I | {I B/ load point mm 89 95 113 126

B &2 ./ mass kg 98 150 243 420

BEBE ZEOEmER . BEREDERICI O TREVR
T R DREN 80 CZEMR IRV EE T TRALIEE L,

W1V FE—YIDLIREELRIFENIE VAR TIE FRD
EREN RELEmREZER TERAT LN TERT,
ERRMGZLH T TTEBLIEE W,

WG C(ERT 25 Y7 )LEEWI(E PO TEHUTLE
AN

2 XTX103N TIESREANLZ  Nm

m X Z X cos a m: EJa-) mm
Zi¥®| #®
o EhAE deg.

BXRCRIFESIY7IVEERE BN TSV IEN SEEHID
FCORRECKRIRELF T,

B #3553 BEARING LIFE

BAREOHERESOMIn L FEEARLRTSAVEY
ERIBDHRR) DEEDEZERLET

B Max. pressure and Max. speed are determined by RG
specification. Please make sure the temperature of
the RG shall not rise beyond 80 C.

MIf the motor is used for the short operating periods
such as used as winch motor and so on, the operating
conditions may be beyond the rate pressure or max.
speed mentioned above.

In this case please inform us of the specific operating
conditions.

B The theoretical radial force W acting on the driving
shaft is calculated by the following formula.

2 X T X103 N T theoretical output torque  N-m

= m: module mm
m X Z X cos a Z : umber of teeth

QL - standard pressure angle of cutter deg.

M Allowable theoretical force shown in the table depends
on the distance of load center from mount flange.

HEThe life obtained in this graph is for the speed of 50
min~;and the load point of (spline center)

10,000—
8,000 ---
I~ 6000
BE
5o
=3 4000
o
= 3000
@G ®
=
S 2000
&o
1,000b——ir
0 4.9x104

5)

9.8x10*

14.7x10* 19.6x10*
(10 (15 (20)

WCHNDSITILEE N (ton)
radial force acting on the driving shaft

(x1) FHonld. OEmEECRIEHLET
(E2) QDENARELBBEFHIFETLET,
ZOMDEEEIR
(x1) wWEREF EREAICKIEDUET,
HHFTBBNEHLELIZE L,
(E2) FVAAIVIFAPIT—ERSDHECL-32L\LCL- MBH D BDZTEALIEE N,

(Note 1) The bearing life is in inverse proportion to the speed.

(Note 2) If 2is larger, the bearing life becomes shorter.

Other caution

(Note 1) The life of the gears is influenced by the operating pressure.
Please consult us, if necessary.

(Note 2) Use gear oil equivalent to GL-3 or GL-4 of API classification.



B 1% DIMENSIONS

[IM3Xsesssssxsx -RG]

B1

Y

M3X/M3B-RG Series

B2

Y

-——

oH

o]

Y

wJ LULJUJ J ZMJ1

B
[

IN—F2TTU—=F
parking brake

R—b

A R—b
A port

B
B

N—F2TTU—F7
fit with parking brake

V
A B1 { B2
y 1 z T .é. T H 4
F ST
T 119 1 @ B @
¢ TR : © e
S ‘II & 1-Ht—J NIy :
5 i
H
19 | L |
| | gl IEVITLE e UL
* parking braxe no parking brake
(mm)
51X /size AlBl]B2| C|DI|E]F] G| H | J K] L] M N
M3X200AP-RG0355.7| 119 | 443 | — | 85| 405| 13 | 60 | 22| 360 |260f7| 268 | 122 | 103 | — | 320
M3X280%P-RG0656.4 501 | 569 463 =
M3X280%PR06364 | 130 | 201 | 262 | 95 | 283 | 14 | 70 | 25394 (32017 | 318 | 130 | 117 | 555 | 360
M3X530%P-RG1055.7 550 | 550 513 —
MSXS30%PRA10557 1 154 | 2591550 | 111 [ 213 | 15 | 81 | 30|480(3307 | 415 | 165 | 154 | 5gq | 450
M3X800AP-RG1656.4 586
M3XBOOAPRG1636.4 | 164 | 623 | 739 | 108 | 288 | 20 | 75 | 179 | 460 (38017 | 460 | 178 | 169 | — | 424
M3B800AP-RG1656.4 618
M3BB00AP-RG1656.4 | 201 | 655 | 771 | 141 | 818 | 15 |114 | 32| 570 (3907 | 464 | 178 | 169 | 332 | 520
tH 41X /size 0 P Q R S T
M3X200AP-RGO3S5.7 | 6—022 (6X607| 75| 25| 72 | 2x4=M12x175 | 123, 2030
M3X280P-RG06S6.4 |, ~ : - m=2.5, 7=20
M3B280%P-RG06S6.4 | 10?22 (10367 | 75 | 25| 72 | 2x4=M12x1.75 | "(;5'n2001)
M3X530%P-RG10S5.7 |, 5 o _ m=3.75, 7=26
M3B530:P-RG1055.7 | 12— @18 (12X307| 75| 30| 72 | 2x4=M12x1.75 | ")is'p3001)
M3X800AP-RG1656.4 | - A 75| 30| 72 | 2x4—M12x1.75 | m=3.75, 2=29
M3X800BP-RG1656.4 | 16?20 (16X225)| 105 | 33| 92 | Sx4—M16%2 (JIS D2001)
M3BB00AP-RG1656.4 | 1 S| 75| 30| 72 | 2x4—M12x1.75 | DP=6/12, 7=26
M3BBOOBP-RG1656.4 | 12922 (12X307| 105 | 32| 92 | Sx4—M16x2 (SAE)

M3VU—XE—IDTSVIICF HHADVINZVZFE KDC30MR.
TU—F# B25CRENBR-TEFT,

Counter balance valve KDS30MR or brake valve B25C is
directly attachable to M3 series motors.



25

SRR 7 FvILEA M E—9
Swash-Plate Type Axial Piston Motor

K3X Series

Il

—
t Y -

: =

U

I 43R FEATURES

1. B ERE

I —RERRAEME U CEN BREBEZD DOKIVIRY
FOO—9UERFRITZDIEICEH>TEBNHERESVEE
HERIBLTVETD,

2. 5Y7 VEEHE
HIRICSI VI EELEERITDENTEFT L. B
FnlHMETLET,

3. §il i) CREaE

SEhE N AT DR THERT 2D DRL Y R— 2

ATVET,

M 2VZR< ORDERING CODE
K3X) [112] [5)-[1

K3X¥yU—X

K3X series

P4 X size
63 : 64cm®* 90 : 89cm?
80 : 82cm3 112 : 111cm?

Atk - 82K power code, shaft code

K3XVU—XIF BEREm - —REEEMAR PEUTEER
REZEF OKIVIYU—XDHFTED &(C —REZEEMANDE
AEEh-ole . Hiv—XOE—9I T,

The K3X series are newly developed motors for
industrial machinery.
The design is based on technology and experience
of current K3V series for construction machinery or
industrial machinery.

0 :1F#FEHN. F—#/standard type, key 1&#/standard

CIZEHN. A VRUL—N AT S Vil /standard type, involute spline

1
5  ERftik. F—#/high power type, key
6

D BTk A U RU1—R A TS 8l /high power type, involute spline

B ~TE DIMENSIONS

1. High Efficiency and Reliability

K3X series has high efficiency and high reliability by
using common rotary parts of K3V Series pumps which
are used widely for construction machines and have
many years of experience.

2. Allowable to Apply The Radial Force

The motor shaft can withstand radial loads. But in this
case, bearing life decrease.

3. Allowable to Use on Upward Motor Shaft Position

The motor has the drain port to be installed with shaft
vertical.

i S| | CHREFE fim =
M_ m marks | oil temperature range ) Ee_marks,
! V2 |-20C=6=90°C [T3els e E N
ﬁgﬁf code [ 20CS6590C R i
biank | -20TC=6=90TC
D1 |-30C=06=90TC
D2 |-45C=06=80TC

NILTAN—=T—ROEAE (AR—NSE. 8k ) ET)
valve cover code and direction of rotation
(A port :high press., view from shaft end)
0 : ZFUvhIZvy BEE/split flange and clockwise rotation #Z#/standard
1 ZALwRTSVY BOE/thread flange and clockwise rotation
2 ATUvNISVY EEE/split flange and anti-clockwise rotation
3

1 AbyRDS VY KEEs/thread flange and anti-clockwise rotation

[M3x1125] -
}/r 1

Vb
/Dy

| & Main flange
e 2SI A ZLWRG A F
i split type dK thread type  @Q
:—| L :—1
o ¥ of
oY o I
-t = ' N
o
. e
(mm)

YA X/size | A B C ®D E F G H

1
z
o
N

J | oK L M 0 P Q

K3X63 146.5 127 127 | 14

16 | M10| 66 |23.8 SAE3/4,1-1/16"12UN-28B

K3X80/90/112 | 202.0 152.4| 90| 17

104 | 20 |M12| 75 |27.8 SAE1'1-5/16-12UN-2B




K3X Series
B {1#% SPECIFICATIONS

‘ R#E(E#& standard type =iEfI#k high speed type

7 =h ZTmge K3X63 K3X80 K3X90 | K3X112 K3X63 K3X80 K3X90 | K3X112
BLOIFTBE®E  displacement Vg m? 64 82 89 111 64 82 89 111
= pressure E #  rated 31.4 (320)* 31.4 (320)*! 314 (320)®
MPa(kgf/cm?) BE & max 34.3 (350) 34.3 (350)

EEO&HRE /max.speed N max. min~t| 2,400 2,200 3,000 3,000%2
&R K & 2 / max flow L /min 152 181 200 244 153 247 268 333
E # b JU U/ rated torque N-m 316 411 450 554 255 411 446 554
E # 5B 7./ rated power kW 79 95 100 128 80 129 140 174
o —XANME / case volume L 0.3 0.5 0.3 0.5

GD2f& ~ moment of inertia N-m? 0.3 0.6 0.3 0.6

B B8/ mass kg 23 40 23 40

*1 K3X63SOF—#TRDIBETEESIF24.5 MPa(250 kgf/cm?) L1aE T,
For K3X63S with key type shaft, rated pressure is 24.5 MPa (250 kgf/cm?).

*2 BEDERE 3,000min  CERSNBHBERERENG25.1 MPa(255 kef/cm?) IS EBES31.4 MPa(320 kgf/cm?) TERTN3HEREOEmEREF 2,400min1&BUET,

In case that the motor is used at the max. speed of 3,000min-1, rated pressure is 25.1 MPa (255 kgf/cm3), and at the rated pressure of 31.4 MPa (320 kgf/cm?2), max. speed is 2,400min-1.

P 488 PERFORMANCE CURVE s#38/0il temperature:50°C #55/0il viscosity:32mm2/s

[K3x112] RORER. FEHETIFH<TMETT ./ The values given in the below figures are mean ones, and not guaranteed ones.
OEEHZIE Mechanical efficiency (%) @ BHEE Volumetric efficiency
100 T 100 T T B
5 p=30MP3 5 =
— [ — 2 = ]
2 T 306kef/cm) 2 . /; N\ \p=20MPa(204kgf/cm?)
€ E I I I
° ;_'; \\\ DZZO,\I,IpaQoMgf/cm?) © ‘; p=10MPa(102kgf/cm?) p=30MPa(306kgf/cm?)
gé " ~~Js-10 Pa(102kgf/cm?) %g o
By B2
®E we
70 70
0 500 1,000 1,500 2,000 2,500 3,000 3,500 0 500 1,000 1,500 2,000 2,500 3,000 3,500
O#m%E speed min! O#EHRE speed min!
SEHFE Starting mechanical efficiency SEEFIRKE MR- BIE T — X MNEA#4R 1dle & boost-graph
g 600 T s 04 -
g (56000) 100% L~ S 6 £
ES (0 / 2w pbs 03 %,
Z< 400 & , ¢
5 (40) 85% = 3 < 02 £3
QL 300 - (30 - =9
35 =3 PR pid et
e (23008 ae 2 - 01 38
N > -~ )
33% 50 _Z @ 2 (20) —”_/ EE
85 100] =7 KO 1 = 00 ®2
®o (10) Bo 10 — L5
5 10 15 20 25 30 35 ge 01 I8
(51) (102) (153) (204) (255) (306) (357) 235  Op 100 200 300 400 Re
7= different pressure Ap MPa(kgf/cm?) g flow L/min ﬁlé'é
SRFFFE Shaft creep speed ®SIU7IVRIELESEHEG Radial load and bearing life
5 1,000,000 == ==
el 4 Fe symbole v F
EE &< ) uhtis [deg| N
e Q9 100,000 fic < © [9] o
g 2 I 4 @ | 90[ 5,000
B5 & ® [ 90[10,000
e 1 o 6) 7 @ 0[10,000
PE ﬁf‘p.g 10000 e N © [180[10,000
Y ® oSS T —— O N a =42mm
0 5 10 15 20 25 =9 ‘ Vg=111cm?
(51) (102) 153) (204) (255) e 1000 | O ——— ne - 1,oocommw1
ZU—HE pb MPalkef/cme) s 10 40 DFAS BEOTERESETE,
braking pressure ' o~ e
[£41 pressure p1+p2 MPa(kgf/cm?) Regarding U Fand a, please refer
to the figures of DIMENTIONS in page 25.
o A = . . . . .
M #3275 d Bearing life ®70YMNEES Front bearing life S UVEIZER Rear bearing life
ARFEERENO=1,000min 1O EEDETEHFH 1000000 Frmr NG K3X80. 1,000,000 =57 e
(B10541 ) &RULETD, T
FROOEREN TOEEHmIF TRICTRO T
& £< 100000 €< 100,000
The calculated life(Biwo life) shown in the = §§
graph is for speed No=1,000min* “o e
Calculation of life for a random speed N is g e
RS #R-=
follows. iz 10,000 o5 10,000
1B O W@ O
_No Lo: NOTOst &S
=—XLo .
N calculated life for No
(£ Note) 1000 5 10 0 1,000 5 10 20
p: :AOES] inlet pressure (51) (102) (408) (51) (102) (408)
P2 ‘HBOFES] outlet pressure £ 73 pressure Pi+P2 MPa (kgf/cm?2) [£ 73 pressure  Pi+P2 MPa (kgf/cm?)

26



27

B{EEH/FIE OPERATION PRINCIPLE

BRI @Y. BEENAOR—~ () Z@>TYUYd T
Oy Q) ITRATBEEANY (4) ISHEFNDERL T 875
BICHFIFEELE T COAFIF. 22— (5)ZN LT /R (7)
([CEEBAF1EBICERARDAF2ICNTNUADEIENE
T CDOF2ORAHIERANZNL T U9 TOvI (2) 1T
ESN O (CEEE I ZRESEE T,

Y TOVIIIFIRDEAN Y HERISINTHEU. &
FERDOAOMR—NIEBL TWVWSEHADE RNV (CKUIER
80NV MmESNE T,

SHOEADTEZZECT DE HFEDOER BRI E T,

ERHAINLITIE AN TERSNE T,

T (EHEHNLZ N-m
AD I BYERE MPa
Vg : 1BEEHEcYDFEcm?

1 N-m =0.10197 kgf-m

_ ADXVE
6.28

As shown in the right, the high pressure oil passes through
the inlet port (a) and flows into the cylinder block (2).
Hydraulic force thus acts upon the piston (4), generating
an axial force F. This force F is vector-analyzed through
the shoe (5) into force F1 which is perpendicular to the
swash plate (7), and force F2 which is a vertical force with
respect to the output shaft. The reaction force of force F2
is transmitted via the piston to the cylinder block,
generating a rotational force which turns the output shaft.
These are 9 equally spaced pistons in the cylinder block.
The pistons connected to the high pressure inlet port
transmit rotational torque sequentially to the output shaft.
Reversing the flow of operating oil causes the output shaft
to rotate in reverse.

The theoretical output torque (T) is obtained by the
following formula.

T : Theoretical output torque N-m
T= AL W pA . Effective pressure difference MPa
6.28 Vg : Displacement per revolution cm?

1 MPa = 10.197 kgf/cm?2

B/\N—F+29JU—F =7vs>) PARKING BRAKE (Option)

CDTUV—FF RATATIA T (BEETU—FHEEIL
TVBH CHEZHIE T DEMREND) DERERTL—F
CTY . IV—FEGFE-—IDT—IVITAESEBLTSY. T
J2avFU—NEIRUVVRIC RS TREAISNE T,

U723V U= (14) [TIFRRTSA V7R IFTHY . BR
B#h (1) (CRPSA VREESNEHBF (1) OAR TS 1Y
BWEFRELTWVET . /=9 TFU—K(13) [CEARTSA
VERITTBU NIV THN—(B) DRATSA VBEHRE
TVWET, JUTvavyFU—h(14)&BNV—9FL—h
(13) FRBICEBBEESNTVET ., JU—FERNVE
(15) [SHEAHEINTORVIREETIF. AUV T (3) (T
FOTCTU—FERM Y (10) N EAICHEN. TUT Y3V S
L—h(14) £/ —9FU—b(13) ZH I DIF D18, ERED
HEOME T DENTET . TU—F DO DIET BERONS
ATV T HITHT BB OENDBEHRIE T DL TU—FER
b (10) [FEAICHURSN. U723y FL—h(14) &=/
L—9FL—b(13) DEICKRENEL CHREEN DE T2
KOTIR, TU—FFERREINE T

This is a negative type, oil-lubricated, multi-disc parking
brake. Friction plates are cooled and lubricated by the
drain oil of the hydraulic motor. The braking operation
is as follows.

The friction plates (14) which are splined to the joint
(11) and the separator plates (13) which are splined to
the valve cover (8) are placed alternately. If not in
operation, the brake piston (10) is pushed leftward by
the springs (3) and the resultant friction force between
the friction and the separator plates restricts the
driving shaft to rotate. On the other hand, a release
pressure larger than the spring force is applied to the
oil chamber (15) through the release port, the brake
piston (10) moves rightward and clearance is formed
between the plates. So the brake is released and the
driving shaft can rotate freely.




BM3B E—-9TEBEHIE DISPLACEMENT CHANGING MECHANISM OF M3B SERIES

$M3B280,530,800

FRDSZHHERBICIF BRI Y A N CEEUTEFHERIRD R
NUBIR(C RO CHRIEZFTF I D HNERAL TV T, Fitk(C
EAHEERE RN 2@ EN @A U SHEAN RO B A ZHIEH
FBDETRRDIBAZZR(L S B CEERLZITRNE T,

HEAEZ b (R
large control piston

AR N> (Y
small control piston

R (7)
swash plate

JHE
chamber

s (1)

JHE
chamber
:lr"‘ YUvg70vo (2)
cylinder block

The semi cylindrical slide plate, positioned at the both
sides of the swash plate, supports the load, as a swash
plate supporting mechanism. Two control pistons push
swash plate opposite to each other. Displacement is
changed by controlling the oil supply to the chambers
to adjust the tilting angle of the swash plate.

INILTHIN— (8)
valve cover

ARERC]

release port R BEH

low press. oil high press. oil
FU—klr—327(9) ﬁ @
brake casing

TU—FEZANVE(15) Ho AO

oil chamber outlet port | inlet port

l‘C)’l

s JU—FEZMV(10)
brake piston

=27 (12)

/ driving shaft

FMEE AN #s
semicylindrical
side plate

shoe

4 M3B200
FHRDZTFFHABIC (SRR T o RICEE Uk ER RO
NYMR—=)VICK O THEZS T HREHRALTLET,
FHRICEARIEACAN 1EZEEE L. HE NBZEHIET
BECRIFIRDIERZ NS LI T ShZMiaLIBEVEE
(F EANYERNEVU VIR TUY T HICE O TRIRABUR
SNEADRKICIRIE T,

NILTFL—(6)
valve plate

brake spring . R

ik (11)
joint

~__ U733y FL—N(14)
friction plate

w/S—9FL—K(13)
separator plate

The semi spherical pivot ball, positioned at the both
sides of the swash plate, supports the load, as a swash
plate supporting mechanism.

The tilting angle of the swash plate diminishes by
supplying the oil to the chamber of a control piston
positioned at the swash plate. On the other hand, when
oil is not supplied to the chamber, swash plate is
retreated by the forces applied to the pistons and by
the cylinder spring and the tilting angle becomes
maximum.

RN PASAN 31— (5) VS 70vI(2)
control piston stopper shoe cylinder block
2 (4)
[ [ piston
JHE / I [
chamber
IS RAFSUVT(3)
. |_—cylinder spring
/
N
| B ExEhen (1) 5 .
driving shaft
7| / i
1
» ) 1
ERR—)b NILTFL—K(6)
pivot ball valve plate
R (7) INILTHIN—(8)
swash plate valve cover

28



29

WEUE ED;E= CAUTION FOR HANDLING

A

=
AR

1. fEER & REEEH
O EBLHICIE. MEEFEIE RS ERL TR,
@1EEhHIF. #5Z:10~1,000mm2/s(cSt)BE:—20~+90TC
DEERTTHERALIES L,
@UYEBIRATINR. K-—TUI—ILZR EHBRIXTILERED
HRZIEF AN ONA S H A IV EFERENDIBEFSBRICHHT

FTTERLIZE LY,

A\

=
E=

2. 7«4ILY

E—YDFMFIVIZIR—VAVICKEFEINFTT . I VIR

DIEEDHIE NASHRLIADERIRIRBEICEIEL CLfEE W &z,

E7IF2T—YDRIOBICIE10uMDT )L I ZRIFTLIES

LYo

A\

3. &

g

OE—9IDI/AABIETFERESRBLU TSV F FYa v kI
DWVTIZE, YT THERL IS0,

QEEREYED B LS T A IERICITE TSV PR UIE

0.05mMMIUTICLTL T,
#@OAE | M3X/M3B | M3X/M3B-RG K3X
K = i =
S WA=V FAIEV FAIEV
é L - - g
sE
4. RUVESE
DE—IDRUVEREIF TFRICRT K37 —Y VI WITHDTE
I DIOBRMBICHBLTEE0,

QORUVVEBIRRE—YDR—bT A XULEDRVEBZFERL. Y
—YVITHRENEA0.2MPa(2kef/cm)LIT . BKUE—T8F
TH0.6MPa(6kgf/cm)URTRBKRSICLTEE LY,

A

CAUTION

1.0perating fluid and temperature range

@ Please use antiwear hydraulic fluid as operating fluid.

@ The allowable ranges of operating fluid are as follows.
Viscosity:10~1,000mm?2/s (cSt)
Temperature:—20~+80C

® In case of using special fluid (Phosphate ester compounds,

water-glycol fluid, fatly acid ester compounds, etc.)
please consult Kawasaki for instructions prior to use.

A\

CAUTION

2.Filtration

For satisfactory service life of these motors application, the
operating fluid should be controlled cleaner than the cleanliness
level of NAS1638 Class9. Install a 10um filter in the return circuit
of respective actuators.

A\

WARNING

3.Mounting

@ Regarding the mounting direction, please refer to the below
list. In case of the "Option" mentioned in the list, please
consult Kawasaki.

@ Alignment should be so carried out that the parallel error may
be held within £0.05mm.

Directionof | M3X/M3B | M3X/M3B-RG|  K3X
Horizontal | Standard | Standard Standard
Down ward Option Option Option
é Up ward - - Standard
WARNING
4.Drain piping

@ The motor's drain port, as shown in the following figure,
should be so located that the casing can be filled with oil.

@ Use a drain tube bigger in size than the motor's port. Keep the
casing pressure normally below 0.2MPa (2kgf/cm?) and below
0.6MPa (6kgf/cm?) even at the peak.

o




A

5. HDFEHEETIRE

BEORIC. 7~V TRICERLY R~ ST HETBL T
TV ey — VY IS SR L P RE 5T
STLREVAFBEN BB E . BEFROHICHTBRE
ERH<BNDBUFET,

or— ZPVHEIE. HRICTRLTLET,

A\

6. \—F2ITL—+
TU—FRBN—FVITFHTT HEBTU—FELTCDIERIFT
TFEA TV—FEERZEAITDRELT BRAENELTS
AIIC/S—F 2T TU—FPMEBILIGV KR SICLTLIEE L,

A

7. BhfaEE

O E—9IHHNECETTEZSITIREDAZTSEHZHFGD
REFBEEFEERDOMUEEREZSRIES L,
HERUBEPHEAONERD B FEHETHELEDEL
Jraray A

@ E—IHHHICIASANITEZGT T BT LB TEF A

@ HREHNCIESIPIVEE RS AMTEZETH I DN

TEFY, TIY7 I EELMRFHDOBRIE23X—IZSHRL
ZE0,
P

8. ¥vETF—avDpsLE

BEICI ST E—INFOLEINBBE. FrvET—VaV i REL
BVKRSICHRAR—MMIT —AENENFBHENHIET &
FERDMRET —IHDRIK T —ZANEHF . ERERETDEZRL
TLVFITRENRHCEILT BBEF RRU EDT—ANES
ZESABDMENHBIETDTITERLZE L,

A

AR
9. SEEFRMHTDER
XA ViR—bOEEAIFE. 2.5MPa(25kgf/cm2) AT ERD KD

LTLIEE W, 2.5MPa(25kgf/cm?) Z# A TREATSNEFT &
AE LRIBE IR D TTREMEN S UE T DT B X TTHERLIZE L,

A\

WARNING
5.0il filling and air venting

Before operation, be sure to fill the casing with oil through
the drain port . Vent all air out of the motor and hydraulic
circuit prior to operation.

The insufficient amount of oil may cause the lubrication
failure, resulting in the seizure of internal parts. The volume
of the oil is shown in the SPECIFICATIONS as case volume.

A\

WARNING

6.Parking brake

This brake should be used only for parking, are not for
dynamic braking. In case of driving inertial load,
measures such as the adoption of the time delay valve
should be taken to prevent the parking brake from being
activated before the inertial mass stops.

A

WARNING

7.Radial and thrust load

®Bearing life against the radial load applied to the shaft
is shown in the Performance curve for each motor
type. If load point or load direction is different, please
consult us.

®@ Do not apply thrust load to the shaft of these motors.

®Radial and thrust load may be applied to the output
shaft of the reduction gears. Please refer to P23 for
the relations between the radial load and the bearing
life.

A\

CAUTION

8.Cavitation

When the motor is operating in an overrunning
(pumping) mode, then to prevent the occurrence of
cavitation, a positive boost pressure is required at the
suction port. The minimum boost pressure requirement
shown in the model performance data is based on the
regular operation. In case of a rapid change of the flow
volume, more boost pressure must be applied.

A

CAUTION

9.Back pressure

The lower of the two main motor ports pressures should
always be less than 2.5MPa (25kgf/cm?). Pressure higher
than this could cause a possible reduction in motor
performance. In case of any doubt please consult us.

30



W &

PIPING

BEEY X Piping size

S AAUR—K | KL=k IS4 O f— R — I — g | HEN
model main port drain port pilot port, gage port, etc. @ B
M3X200 K%k special G3/8 \ @
M3X280 %55 special G1/2 G1/4 ‘
M3X530 | %% special G3/4 G1/4 = Fles 5
M3X800A | %% special G3/4 G1/4 A ,
M3X800B | %% special |  G3/4 G1/4 @ @
M3B200 155k special G1/2 G1/4 2 2
M3B280 5% special G1/2 G1/4
M3B530 #55% special G3/4 G1/4 ¢d2
M3B800A | %% special G3/4 G1/4 5 | ¢da
M3B800B | %%k special G3/4 G1/4 | :
K3X63 SAE3/4" SAE1/2" G1/4 ‘\30
K3X80,90,112 SAE1" SAE1/2" G1/4 ¢d3 %m
KSC19 G3/4 ™
KSC19L G3/4 N (Z)dL r
KDC28MR | SAE3/4" G1/4 = T Lne
KDC30MR SAE1-1/4" G3/8 o
KDC40MR | SAE1-1/2" G1/4 I Lol
B25C SAE1" G1/8 L] aalll==
B35C SAE1-1/4" SAE3/8" ¢d7 ¥
FV30 SAE1-1/4" G1/4,G3/4 ¢ds
VBS-199 G1 G1 A VIR—ETSVY Flange for main ports

WX VR—ME7352Y Flange for main ports
E—IDAA VIR—NCEERIF TR ENTEBR TS VITY,
These flanges are attachable directly to the main ports of motors.

- ST SRR 5159
Y [1 | 12| 3] la| Is]| |6 | di| d2| d3| d4| ds| de| d7| ds m n ﬂgnge— Ub KPM parts list
model (fsor one motor)

M3B200 |64 |64 |60 |30 | 88| 25 | 62 [340| 35 | 22 |355| 35 |44.5/45.2|2x4xM10-40|G30|  3703580-1668

M§§f3880 74| 74 | 60 | 30 | 95| 25 | 72 [34.0| 38 | 22 |38.9| 40 |47.6/48.4| 2x4xM12-45|G35|  3703580-1669

M;%//B%%gg 74 | 74 | 70 | 35 |10.3| 30 | 72 |42.7| 44 | 30 |445| 45 |54.0|54.8| 2x4xM12-45|G40|  3703580-1670

M3X/B800B | 94 | 94 | 70 | 35 |10.3| 30 | 92 |42.7| 44 | 30 |445| 45 |54.0|54.8|2x4xM16-50|G40|  3703580-1671

BOUVIRIAXARORTII— O-ring type thread connector
E—IDRLYR—K /A Oy R— b [ BRDEER— M EEPTRVICERT 288TT,

These connectors are used to convert the drain ports, pilot ports, attached valves' piping ports, etc. into PT screws.

pres T1 T2 |a|blc|d|e| f|g| h |ecedmmy h

JIS 1/4" G1/4 |RC1/4|12 |17 | 29| 5 | 11|19 | 19 | P11 | PSTB1124-6  T1 ¢

JIs 3/8" G3/8 |RC3/8|12 |19 | 31| 8 | 12| 22 | 22 | P14 | PSTB1124-9 1 < N
JIs1/2" G1/2 |RC1/2|16 |22 | 38 | 10 | 15| 27 | 27 | P18 |PSTB 1124-12 T /\
JIS 3/4" G3/4 |RC3/4|17 |25 | 42 | 16 | 17 | 36 | 36 | P24 |PSTB 1124-19 ggT*' R J
Jis 1" G1 RC1 |21 |27 | 48 |22 | 19| 41 | 41 | P29 |PSTB 1124-25 =) \./
SAE 3/8" | 9/16-18UNF |RC3/8|9.9 | 19 (28.9| 7.0 | 12 |17.4| 22 |906%| PSTB 4043-6
SAE 1/2" | 3/4-16UNF |RC1/2(11.1| 22 [33.1]10.0| 15 |22.2| 26 |908%| PSTB 4043-8 a b g
SAE 3/4" |1-1/16-12UN | RC3/4 [15.0| 25 |40.0{15.5| 17 |31.7| 35 |912%)|PSTB 4043-12 £

SAE 1" |1-5/16-12UN| RC1 [15.0| 27 |42.0|22.0| 19 [38.0| 41 |916%)|PSTB 4043-16

(1) SAE AS 586




W A1 ViR—RSAEZR~Y ZRILE Manifold for conversion into SAE flange
E—IDXA VIR—NESAETSVI(CEBMT DEMT BIHDY ZRILRTT,
These manifolds are used to convert motor main ports into SAE flanges.

% = T TTEEE
mode] 1| 12| I3[ la|ls|le| 17| 8| [9|l10111] |12 d1| d2| d3 m n | o p alr| s Dlﬁgéﬁgfgg%{%%g
M3B200 [150| 75100(37.5)27 | 9 |82 |14 |41.0{57227.8| 75| 62| 25 | 35 |2x4xM10-85 | 1"*) |G1/4| 9/16-18UNF® | G30| P11|906*|3724750.0615
M%ﬁ%’so 150| 75/102[375( 27| 9 |82 |16 410[57.2278 75| 72| 25| 35 |2xaxM12-85 | 1"®0 |G1/4| 9/16-18UNF* | G30|P11|906 *2|3724750-06 16
MS%//B%%%%wz 75(102(37.5/ 27| 9 | 96 |17 [485(66.7/31.8| 79| 72 | 28 | 45 | 2x4xM12-100 |1-1/4" *1{G1/4| 9/16-18UNF ® | G40| P11|906 *| 37247500617
M3X/B800B [202/102[120[50.0{ 27 | 9 | 96 |21 |48.5|66.7/31.8/102| 92| 30| 45 | 2x4xM16-100 |1-1/4" #9|G1/4| 9/16-18UNF @ | G40|P11|906 *| 372475006118

(*1) SAE high pressure series flange 6000 psi/metric screw
(x2) SAE 3/8" 1

(#3) SAE AS 586 |2

I3

l6

[7
[10

0

B 7>V (SAERE) Flange for main ports (SAE standard)
SAERMDEE TSI TT M3VU—RE—Y(C[FSAEEBRY ZMUREHE T 2HRENHIET,
These flanges are based on SAE standard. SAE conversion manifolds are necessary for M3 series.

¢ds3

7]4153;%;2"2( 3 l1 |12 | 13| la|Is|d1|d2|d3|ds|ds| de| d7| m n 0 %gr{g/eézrbéﬁ?ﬁg%gg 157
3/4" ) 20 | 50 | 24 | 48 | 51 30 | 19 |16.2(27.2| 36 74| 11 3/4" 4XM10-35 | G25 3703580-1804
1" &) 25 | 55 [27.8| 54 |57.2| 40 | 26 |21.2|34.0| 43 82| 11 1" 4XM10-40 | G35 3703580-1805
1-1/4" 6 30 | 65 |31.8| 61 |66.7| 45 | 32 |299|42.7| 50 96| 14 | 1-1/4" | 4XM12-45 | G40 3703580-1806
1-1/2"6 35 | 75 |36.5| 70 |79.4| 50 | 38 |34.4|48.6| 58 |115| 18 | 1-1/2" | 4XM16-55 | G45 3703580-1807

(%1) SAE high pressure series flange (6000 psi)
[2

H v
i o M| < v
o| o +{———-|0|"|T
|| © ASIASHRSY
i 15
~
2.4£0.05

4-¢d1 70 hole

32




33

AOYFEHRAZ 7 2 vILVERAR Y E—Y

BB LTS o
B o= R B
SNETER No.
B & TR :
18 B B B okt i B T & HOE s =
BLDITEE cm?
TRORKE - E-RE
HHBE (R NERBS) cm?
E A T 1% MPa (kgf/cm?)
= MPa(kgf/cm2)
==t E 8 L/min
B X L/min
EHANLD N-m (kgf-m)
REOERE min-!
HABSY 7 UTEEER N (kgf), mm JSVVEND
N—x27 T—=+ - H.AHE
TU—FMLD N-m (kgf-m)
HHEHRIRIE S T 1% MPa (kgf/cm?)
B MPa(kgf/cm2)
BRI Ea hours
at Vg= cm3, p=  MPa, n=  min!, ZOfth
YEBIH  ISOTL—R-884R -
B REH °C
ERAEEN R E mm?2/S(cSt)
18 =] FRFGEERT—T+ ZOM(CEDREIFFHMICERIZE0.)
BENIVT - UF2—I DIk
W ZDthD TBRTHR
(% E]
B HA # 2
i E
SE
= i 8B
NIFETE xRE4
Ny =3
SHREORT B 2 o] KHLZ2S o]  KHL i




KAWASAKI SWASH-PLATE TYPE AXIAL PISTON MOTOR SERIES
SPECIFICATION STUDIES.

No.

Date :

Customer : Machine Model : Installation DWG. No.
Application : Motor Model :
ITEMS UNITS REQUIREMENTS PRODUCT SPECIFICATION |JUDGMENT| REMARKS
Displacement cm?3
Reduction Gear - Necessary-Unnecessary
Total Displacement (if Necessary) cm?3
Pressure Rated MPa (kgf/cm?)
Max. MPa (kgf/cm?)
Flow Rated L/min
Max. L/min
Actual Output Torque N-m(kgf-m)
Max. Speed min-t
Radial Load and Load Point N (kgf), mm from Flange
Parking Brake - Necessary-Unnecessary
Brake Torque N-m (kgf-m)
Release Pressure Rated MPa (kgf/cm?)
Max. MPa (kgf/cm?)
Required Bearing Life hours
at vg= cm3, p= MPa, n= mint,  etc.
Hydraulic Fluid I1SO Crade, Brand -
Qil Temperature Range °C
0il Viscosity Range mm2/S(cSt)

ITEM

USE CONDITION, DUTY CYCLE etc.(DESCRIBE in DETAIL)

B Other Requirements

M Optional Valve and Regulator Requirements

[Notel

DATE

QUANTITY

Sample

Mass Production

Sales Department

Machinery Engineering Dept

Kawasaki Heavy Industries, Ltd.

Flow of this specification sheet

CUSTOMER

KHI/SALES DEP.

KHI/ENG.DEP.

34



JNIFETFEFRRKEH
BEREAHIN=—
REAt

T105-8315 RREEXEF1TE14-5
Tel. 03-3435-6862 Fax. 03-3435-2023

HFEA
T650-8680 #HFEMPRXF/IIGEI1THL1-3(#FIURIILIT—)
Tel. 078-360-8605 Fax. 078-360-8609

FatdE 115
T651-2239 MFEHAEKESEIRA2348EH
Tel. 078-991-1133 Fax. 078-991-3186

== S
T812-0011 FEMMELXELRENLTB4-1 (ESRAFE—EawILT VT 9F)
Tel. 092-432-9561 Fax. 092-432-9566

RRY—EXAtEv9—

T272-0015 TEREM/IMBE4TH-2
Tel. 047-379-8181 Fax. 047-379-8186

SHY—EAtEyv9—

T794-0028 BEERSEMILERAILITES-3(VTSILIEMREIL.]IIEREEBEN)
Tel. 0898-22-2531 Fax. 0898-22-2183

EEY—ERteVvI—
T811-0112 EMRMEEFH=EI FFH2TE10-17
Tel. 092-963-0452 Fax. 092-963-2755

http://www.khi.co.jp/kpm/

Kawasaki Heavy Industries, Ltd.

Precision Machinery Company
http://www.khi.co.jp/kpm/

Tokyo Head Office
1-14-5 Kaigan, Minato-ku, Tokyo 105-8315, Japan
Phone +81-3-3435-6862 Fax. +81-3-3435-2023

Kobe Head Office

Kobe Crystal Tower, 1-3 Higashikawasaki-cho 1-chome, Chuo-ku, Kobe 650-8680,
Japan

Phone +81-78-360-8607 Fax. +81-78-360-8609

Nishi-kobe Works
234, Matsumoto, Hasetani-cho, Nishi-ku, Kobe 651-2239, Japan
Phone +81-78-991-1160 Fax. +81-78-991-3186

OVERSEAS SUBSIDIARIES

Kawasaki Precision Machinery (UK) Ltd.

Ernesettle Lane, Ernesettle, Plymouth, Devon, PL5 2SA United Kingdom
Phone +44-1752-364394 Fax. +44-1752-364816
http://www.kpm-eu.com

Kawasaki Precision Machinery (U.S.A.), Inc.

3838 Broadmoor Avenue S.E. Grand Rapids, Michigan 49512, US.A.
Phone +1-616-975-3100 Fax. +1-616-975-3103
http://www.kpm-usa.com

Kawasaki Precision Machinery (Suzhou) Ltd.
668 JianLin Rd, New District, Suzhou, 215151 China
Phone +86-512-6616-0365 Fax. +86-512-6616-0366

Kawasaki Precision Machinery Trading (Shanghai) Co., Ltd.

17th Floor (Room 1701), The Headquarters Building, N0168, XiZang Road (M), Huangpu
District, Shanghai, 200001, China

Phone +86-21-3366-3800 Fax. +86-21-3366-3808

Kawasaki Chunhui Precision Machinery (Zhejiang) Ltd.

N0.200 Yasha Road Shangyu Economic Development Zone, Shansyu, Zhejiang, 312300,
China

Phone +86-575-8215-6999 Fax. +86-575-8215-8699

Flutek, Ltd.
98 GIL 6, Gongdan-Ro, Seongsan-Ku, Changwon-Si, Kyungnam,641-370, Korea
Phone +82-55-210-5900 Fax. +82-55-286-5557

Wipro Kawasaki Precision Machinery Private Limited

No. 15, Sy. No. 35 & 37, Kumbalgodu Industrial Area, Kumbalgodu Village, Kengeri Hobli,

Bangalore, - 560074 ,India

COHIOTCERHDONBE URDIHFELRUE] - EBIT3HBENDIET .
Materials and specifications are subject to change without manufacturer's obligation.

Cat. No. KPM0923 Jan. ®
Printed in Japan



